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NEW QUESTION 1
- (Exam Topic 2)
Refer to the exhibit.

Designated Router (ID) 10.11.11.11, Interface address 10.10.10.1
Backup Designated router (ID)10.3.3.3, Interface address 10.10.10.3
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
oob-resync timeout 40

Hello due in 00:00:08

Supports Link-local Signaling (LLS)

Cisco NSF helper support enabled

IETF NSF helper support enabled

Index 1/1/1, flood queue length 0

Next 0x0(0)/0x0(0)/0x0(0)

Last flood scan length is 1, maximumis 6

Last flood scan time is 0 msec, maximum is 1 msec

Neighbor Count is 3, Adjacent neighbor count is 3

Adjacent with neighbor 10.1.1.4

Adjacent with neighbor 10.2.2.2

Adjacent with neighbor 10.3.3.3 (Backup Designated Router)
Suppress hello for 0 neighbor(s)

The show ip ospf interface command has been executed on R1 How is OSPF configured?

A. The interface is not participating in OSPF

B. A point-to-point network type is configured

C. The default Hello and Dead timers are in use
D. There are six OSPF neighbors on this interface

Answer: C
Explanation:

https://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/13689-17.html

NEW QUESTION 2
- (Exam Topic 2)
Refer to the exhibit.

Switch(config) #hostname R1

Rl (config) #interface FastEthernet(0/1

Rl (config-if) #no switchport

Rl (config-if) #ip address 10.100.20.42 255.255.255.0
Rl (config-if) #line vty 0 4

Rl (config-line) #login

An engineer booted a new switch and applied this configuration via the console port. Which additional configuration must be applied to allow administrators to
authenticate directly to enable privilege mode via Telnet using a local username and password?

K 1{configusername admin privilege 15 secret p@ss1234

R1{config-iti=line vty 0 4

R1{config-inelogin local

R1iconfig#username admin secret p@ss1234
R1{config-if i#line vty 0 4

R1{config-ine zlogin local

R1{configj#enable secret p@ss1234

R1{configiEusarname admin
R1{config-if #line vty 0 4
R1{config-line #password p@ss1234

R1{config-ine #transport input telnet
R1{config#username admin
R1{config-if i#line vty 0 4

=

1{config-lne #password p@ss1234

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: A

NEW QUESTION 3
- (Exam Topic 2)
Refer to Exhibit.

SW2

vip domain cisceo

vip mods Transparsnt

vip password ciscotest

interface fastethernet/1
descriprion connection to swl
switchport mods trunk
switchport trunk sncapsulation dotlg

How does SW2 interact with other switches in this VTP domain?

A. It processes VTP updates from any VTP clients on the network on its access ports.

B. It receives updates from all VTP servers and forwards all locally configured VLANSs out all trunk ports
C. It forwards only the VTP advertisements that it receives on its trunk ports.

D. It transmits and processes VTP updates from any VTP Clients on the network on its trunk ports

Answer: C

Explanation:
Reference: https://www.cisco.com/c/en/us/support/docs/lan-switching/vtp/10558-21.html
The VTP mode of SW2 is transparent so it only forwards the VTP updates it receives to its trunk links without processing them.

NEW QUESTION 4
- (Exam Topic 2)
Where does a switch maintain DHCP snooping information?

A. in the MAC address table

B. in the CAM table

C. in the binding database

D. in the frame forwarding database

Answer: C

NEW QUESTION 5

- (Exam Topic 2)

Router A learns the same route from two different neighbors, one of the neighbor routers is an OSPF neighbor and the other is an EIGRP neighbor. What is the
administrative distance of the route that will be installed in the routing table?

A. 20
B. 90
C. 110
D. 115

Answer: B

Explanation:
The Administrative distance (AD) of EIGRP is 90 while the AD of OSPF is 110 so EIGRP route will be chosen to install into the routing table.

NEW QUESTION 6
- (Exam Topic 2)
Which command must be entered when a device is configured as an NTP server?

A. ntp authenticate
B. ntp server

C. ntp peer

D. ntp master

Answer: D

Explanation:
To configure a Cisco device as an Authoritative NTP Server, use the ntp master [stratum] command.To configure a Cisco device as a NTP client, use the
command ntp server <IP address>. For example:Router(config)#ntp server 192.168.1.1. This command will instruct the router to query 192.168.1.1 for the time.

NEW QUESTION 7
- (Exam Topic 2)
Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: B
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Explanation:

This is an example of how two-factor authentication (2FA) works:1. The user logs in to the website or service with their username and password.2. The password
is validated by an authentication server and, if correct, the user becomes eligible for the second factor.3. The authentication server sends a unique code to the
user’s second-factor method (such as a smartphone app).4. The user confirms their identity by providing the additional authentication for their second-factor
method.

NEW QUESTION 8
- (Exam Topic 2)
Refer to the exhibit.

Switchl#show etherchannel summary
Flags: D - down P - in port-channel

- stand-alone s - suspended
- Het-standby (LACP only)
- Layer3 S5 - Layer2
in use f - failed to allocate aggregator

- unsuitable for bundling
- waiting to be aggregated
- default port

b e SO
1

Humber of channel-groups in use: 1

Number of aggregators: 1
Group Port-channel Protocol Ports
------ i
1 Pel (SD) LACP Fa0/2(I) Fal/1(I)
Switchlfishow run SwitchZ#show run
Building configuration... Building configuration...
interface Port-channell interface Port-channell
J 1
interface FastEthernet0/1 interface FastEthernet0/1
channel-group 1 mode passive channel-group 1 mode passive
I 1
interface FastEthernet(/2 interface FastEthernet(/2
channel-group 1 mode passive channel-group 1 mode passive

Which change to the configuration on Switch?
allows the two switches to establish an GtherChannel?

A. Change the protocol to EtherChannel mode on.
B. Change the LACP mode to active

C. Change the LACP mode to desirable

D. Change the protocol to PAgP and use auto mode

Answer: B

NEW QUESTION 9
- (Exam Topic 2)
Which protocol requires authentication to transfer a backup configuration file from a router to a remote server?

A.DTP
B. FTP
C. SMTP
D. TFTP

Answer: B

NEW QUESTION 10
- (Exam Topic 2)
Drag and drop the application protocols from the left onto the transport protocols that it uses on the right
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TCP
DHCP
| FTP
SMTP
5
S5 UDP
! SNMMP
[FTP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
TCP
DHCP e
FiP
: FipP | SNTP
SMTP S5SH
55H UDP
DHCP
| SNMP
' SNMP

[F1P

iF1r

NEW QUESTION 10
- (Exam Topic 2)
Which two primary drivers support the need for network automation? (Choose two.)

A. Eliminating training needs

B. Increasing reliance on self-diagnostic and self-healing
C. Policy-derived provisioning of resources

D. Providing a ship entry point for resource provisioning
E. Reducing hardware footprint

Answer: CD

NEW QUESTION 12
- (Exam Topic 2)
What are two descriptions of three-tier network topologies? (Choose two)

A. The core and distribution layers perform the same functions

B. The access layer manages routing between devices in different domains

C. The network core is designed to maintain continuous connectivity when devices fail.
D. The core layer maintains wired connections for each host

E. The distribution layer runs Layer 2 and Layer 3 technologies

Answer: CE
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NEW QUESTION 17
- (Exam Topic 1)
Which MAC address is recognized as a VRRP virtual address?

A. 0000.5E00.010a
B. 0005.3711.0975
C. 0000.0C07.AC99
D. 0007.C070/ABO1

Answer: A
Explanation:

With VRRP, the virtual router's MAC address is 0000.5E00.01xx , in which xx is the VRRP group.

NEW QUESTION 22
- (Exam Topic 1)
Refer to the exhibit.

Gi0/0 ‘/ 10.0.0.253/30

“5

An administrator must turn off the Cisco Discovery Protocol on the port configured with address last usable address in the 10.0.0.0/30 subnet. Which command set
meets the requirement?

A. interface gi0O/1 no cdp enable

B. interface gi0/1 clear cdp table

C. interface gi0/Ono cdp advertise-v2
D. interface gi0/0 no cdp run

Answer: D

NEW QUESTION 24
- (Exam Topic 1)
Which device controls the forwarding of authentication requests for users when connecting to the network using a lightweight access point?

A. TACACS server

B. wireless access point
C. RADIUS server

D. wireless LAN controller

Answer: B

NEW QUESTION 29
- (Exam Topic 1)
What are network endpoints?

A. act as routers to connect a user to the service prowler network
B. a threat to the network if they are compromised

C. support inter-VLAN connectivity

D. enforce policies for campus-wide traffic going to the internet

Answer: B

NEW QUESTION 34
- (Exam Topic 1)
Refer to the exhibit.
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An access list is required to permit traffic from any host on interface GO/0 and deny traffic from interface G/0/1. Which access list must be applied?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 38

- (Exam Topic 1)
Drag and drop the QoS congestion management terms from the left onto the description on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 40
- (Exam Topic 1)

Image Server

b 10.10.13.10/25

192.168.0.100/24

Ri#show ip route
Gateway of last resort is 10.10.10.2 to network 0.0.0.0
- 0.0.0.0/0 [1/0] via 10.10.10.2

R2¥show ip route
Gateway of last rescort is 10,.10,10.1 to network 0.0.0.0
g* 0.0.0.0/0 [1/0] via 10.10.10.1

Refer to the exhibit Routers R1 and R2 have been configured with their respective LAN interfaces The two circuits are operational and reachable across WAN

Which command set establishes failover redundancy if the primary circuit goes down?
R1(config #ip route 10.10.13.10 255.266.255.265 10.10.10.2

R2{config Hip route 192.168.0.100 255.255.255.255 10.10.10.1
= R (eenhg Mip route 0.0.0.0 0,0,0.0 10.10,10.6 2

R2(config #ip route 0.0.0.0 0.0.0.0 10.10.10.5 2

R1[config ¥ip route 10.10.13.10 255.2595.255.255 10.10.10.6

R2{config j#ip route 192.168.0,100 255.255,265.255 10.10.10.5
_ B1{config#ip route 0.0.0.0 0.0.0.0 10.10.10.6

RZ[config ip route 0.0.0.0 0.0.0.0 10.10.10.5

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 43

- (Exam Topic 1)

What is a practice that protects a network from VLAN hopping attacks?
A. Enable dynamic ARP inspection

B. Configure an ACL to prevent traffic from changing VLANs

C. Change native VLAN to an unused VLAN ID

D. Implement port security on internet-facing VLANS

Answer: C
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NEW QUESTION 44
- (Exam Topic 1)
What is the difference regarding reliability and communication type between TCP and UDP?

A. TCP is reliable and is a connection-oriented protocol UDP is not reliable and is a connectionless protocol
B. TCP is not reliable and is a connection-oriented protocol; UDP is reliable and is a connectionless protocol
C. TCP is not reliable and is a connectionless protocol; UDP is reliable and is a connection-oriented protocol
D. TCP is reliable and is a connectionless protocol; UDP is not reliable and is a connection-oriented protocol

Answer: A

NEW QUESTION 47
- (Exam Topic 1)
Which mode allows access points to be managed by Cisco Wireless LAN Controllers?

A. autonomous

B. lightweight

C. bridge

D. mobility express

Answer: B

Explanation:
https://www.cisco.com/c/en/us/support/docs/wireless/aironet-1200-series/70278-lap-fag.html

A Lightweight Access Point (LAP) is an AP that is designed to be connected to a wireless LAN (WLAN) controller (WLC). APs are “lightweight,” which means that
they cannot act independently of a wireless LAN controller (WLC). The WLC manages the AP configurations and firmware. The APs are “zero touch” deployed,

and individual configuration of APs is not necessary.

NEW QUESTION 52
- (Exam Topic 1)

Drag and drop the functions of DHCP from the left onto any of the positions on the right Not all functions are used

provides local control for network Jegments usng 3 Chent-Server
schame -

reduces the admmstrative Durden for onboarding end users a

L]

asso0ates hostnamaes t2 [P addresses

myintling an p0ress Doo 4

asagns [P addresses to local hosts
for 2 configurabla lease time

offers doman namé served LonfQuirabion

USES JUthorkatie servers Tor reCord keeping

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, text, application, email Description automatically generated

NEW QUESTION 55
- (Exam Topic 1)
In which situation is private IPv4 addressing appropriate for a new subnet on the network of an organization?

A. There is limited unique address space, and traffic on the new subnet will stay local within the organization.
B. The network has multiple endpoint listeners, and it is desired to limit the number of broadcasts.

C. Traffic on the subnet must traverse a site-to-site VPN to an outside organization.

D. The ISP requires the new subnet to be advertised to the internet for web services.
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Answer: A

NEW QUESTION 56

- (Exam Topic 1)

Drag and drop the 802.11 wireless standards from the left onto the matching statements on the right
[

B02.115 | Operates in the 2.4 GHz and 5 GHz bands
|
802.11 Oparates in the 2.4 Gy band andy and Supports B manimum
S50 data rate of 54 Mbps.

|
| Dpsrates n the 5 GHz band only and supports & masdemom data

80Z.11b rate that can exceed 100 Mbps.
802.11¢ Supports 3 maximusm Jdata rate of 11 Mbps.
802110 Operatas in the 5 GHr hand
only and supports a maxmum data rate of 54 Mbps.
L
A. Mastered
B. Not Mastered
Answer: A
Explanation: L
BOZ.11a BD2.E1n
B02.11ac BO2.11g

B02.11ac
| ' '
| 802119 I 802.11b
1
BOZ.1ln B802.11a

NEW QUESTION 59
- (Exam Topic 4)
Which command configures the Cisco WLC to prevent a serial session with the WLC CLI from being automatical togged out?

A. config sessions maxsessions 0
B. config sessions timeout O

C. config serial timeout 0

D. config serial timeout 9600

Answer: B

NEW QUESTION 60
- (Exam Topic 4)
Drag and drop the statements about AAA services firm the left onto the corresponding AAA services on the right Not all options are used.
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e 7 ka1l

L Ll & iy walvlafion wa TRCA

Authedyr ghon

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1&6 authentication
2&4 authorization

NEW QUESTION 64
- (Exam Topic 4)
How does frame switching function on a switch?

A. forwards frames to a neighbor port using CDP

B. modifies frames that contain a known source VLAN

C. inspects and drops frames from unknown destinations
D. forwards known destinations to the destination port

Answer: D

NEW QUESTION 66
- (Exam Topic 4)
What is the purpose of classifying network traffic in QoS?

A. services traffic according to its class

B. identifies the type of traffic that will receive a particular treatment

C. writes the class identifier of a packet to a dedicated field in the packet header
D. configures traffic-matching rules on network devices

Answer: B

NEW QUESTION 70
- (Exam Topic 4)
Which is a fact related to FTP?

A. It uses block numbers to identify and mitigate data-transfer errors
B. It always operates without user authentication

C. It relies on the well-known UDP port 69.

D. It uses two separate connections for control and data traffic

Answer: D

NEW QUESTION 73

- (Exam Topic 4)

Which 802.11 frame type is Association Response?
A. management

B. control

C. action

D. protected frame

Answer: A

NEW QUESTION 76
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- (Exam Topic 4)

Refer the exhibit.

R19#sh int fa0/0

FastEthernet0/0 is up, line protocol is up

Hardware is DEC21140, address is ca02.7788.0000 (bia ca02.7788.0000)
Description: SALES SUBNET

Internet address is 10.32.102.2/30

MTU 1500 bytes, BW 100000 Kbit/sec, DLY 100 usec,

reliability 255/255, txload 1/255, rxload 1/255

Encapsulation ARPA, loopback not set

Keepalive set (60 sec)

Full-duplex, 100Mb/s, 100BaseTX/FX

ARP type: ARPA, ARP Timeout 04:00:00

Last input 00:00:01, output 00:00:00, output hang never

Last clearing of "show interface” counters never

Input queue: 0/300/0/0 (size/max/drops/flushes); Total output drops:
135298429

Queueing strategy: fifo

Output queue: 0/300 (size/max)

30 second input rate 0 bits/sec, 0 packets/sec

30 second output rate 0 bits/sec, 0 packets/sec

73310 packets input, 7101162 bytes

Received 73115 broadcasts (0 IP multicasts)

0 runts, O giants, O throttles

0 input errors, 4 CRC, 0 frame, 0 overrun, 0 ignored

0 watchdog

0 input packets with dribble condition detected

3927513096455 packets output, 14404034810952 bytes, 0 underruns
0 outout errors. 11 collisions. 0 interface resets

What is the cause of poor performance on router R19?

A. excessive collisions

B. speed and duplex mismatch
C. port oversubscription

D. excessive CRC errors

Answer: A

NEW QUESTION 81
- (Exam Topic 4)
What are two differences between WPA2 and WPA3 wireless security? (Choose two.)

A. WPA3 um AES for stronger protection than WPA2 which uses SAE

B. WPA2 uses 1 M-hit key encryption and WPAS requires 256-brt key encryption

C. WPA3 uses AES for stronger protection than WPA2 which uses TKIP WPA3 uses

D. SAE tor stronger protection than WPA2 which uses AES

E. WPA2 uses 12B-M key encryption and WPA3 supports 128 bit and 192 bit key encryption

Answer: CE
NEW QUESTION 83

- (Exam Topic 4)
Refer to the exhibit.

VLAN 10

fo/1

192.168.0.0/24

An engineer assigns IP addressing to the current VLAN with three PCs. The configuration must also account for the expansion of 30 additional VLANS using the
same Class C subnet for subnetting and host count. Which command set fulfills the request while reserving address space for the expected growth?
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A. Switch(config)#interface vlan 10Switch(config-if)#ip address 192.168.0.1 265 255.255.252
B. Switch(config)#interface vlan 10Switch(config-if)#ip address 192.168.0.1 255 255.255.248
C. Switch(config)#interface vlan 10Switch(config-if)#ip address 192.168.0.1 255 255.255.0

D. Switch(config)#interface vlan 10Switch(config-if)#ip address 192.168.0.1 255.255.255.128

Answer: B
NEW QUESTION 84

- (Exam Topic 4)
Drag and drop the wireless architecture benefits from the left onto the architecture types on the right.

Orag and drop the wireless architecture benefits from the left onto the architecture types on the right.

Split-MAC
Appropriate for a small-business environment. [
Work is divided between the access point and the controfler,
H The access paints transmit beacon frames,
Supports per device configuration and management,
Autonomous
Lises the CAPWAP tunneling protocol.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Orag and drop the wireless architecture benefits from the left onto the architecture types on the right,

' Split-MAC

| |
| Work is divided bebween the access point and the controller.

. = ]

Work is divided between the access point and the controller. |

e Supports per device configuration and management.

Lises the CAPWAP tunneling protocol,

Supparts per device configuration and management.

e § w1

C o _—_.I

NEW QUESTION 88
- (Exam Topic 4)

Which command do you enter so that a switch configured with Rapid PVST + listens and learns for a specific time period?

A. switch(config)#spanning-tree vlan 1 max-age 6

B. switch(config)#spanning-tree vian 1 hello-time 10
C. switch(config)#spanning-tree vlan 1 priority 4096

D. switch(config)#spanning-tree vlan 1 forward-time 20

Answer: D

Explanation:

Forward time : Determines how long each of the listening and learning states last before the port begins forwarding.
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Switch(config)# [ no ] spanning-tree vlan vlan_ID forward-time forward_timeConfigures the forward time of a VLAN. The forward_time value can be from 4 to 30

seconds.

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/15-02SG/configurat ion/guide/config/spantree.html#56177

NEW QUESTION 92
- (Exam Topic 4)

A network engineer must migrate a router loopback interface to the IPv6 address space. If the current IPv4 address of the interface is 10.54.73.1/32, and the

engineer configures IPv6 address 0.0.0.0.0:ffff:a36:4901, which prefix length must be used?

A. /64
B. /96
C./124
D. /128

Answer: D
NEW QUESTION 95

- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.

Global Unicast Address

enables aggregation of routing prefixes

provides for one-to-one communication

pl’ﬂ\ﬂdii one-to-many communications hultlcast

sends packets to 3 group address rather than a single address

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 99
- (Exam Topic 4)
Refer to the exhibit.

172 16.0.0 /30
1 Int GOVO Int GO'O 2
o | 1 I 2 6
newl o> 160430 MCO
i } Router QSPF 200 Router OSPF 200
; Metwork 17216 000003 Nelwork 172 16000003 .

Metwork 17216100003 Melwork 172162000031

+

| "

= - = ci
Bl

l
..‘

a1

Workstations Workstations
172.16.1.0 /24 172.16.2.0 1 27

The primary route across Gi0/0 is configured on both routers. A secondary route must be configured to establish connectivity between the workstation networks.

Which command set must be configured to complete this task?
A)
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R1
ip route 172.16.2.0 255.255.255.240 172.16.0.2 113

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.1 114

B)
R1
ip route 172.16.2.0 255.255.2565.240 172.16.0.5 89

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.6 89
C)
TR
ip route 172.16.2.0 255.255.255.248 172.16.0.5 110
Rz
ip route 172.16.1.0 255.2556.2566.0 172.16.0.6 110
D)
R1
ip route 172.16.2.0 255.255.255.224 172.16.0.6 111

R2
ip route 172.16.1.0 255.255.255.0 172.16.0.5 112

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 101
- (Exam Topic 4)

VLANs 1. 100, 101. 102, 103
802.1g

GO/

Lobby Conference Room
Accew port

‘. PC1

VLAN 100
MACL: D000 .abcd. 0004

SW1 supports connectivity for a lobby conference room and must be secured. The engineer must limit the connectivity from PCI lo ma SW1 and SW2 network.

The MAC addresses allowed must be Limited to two. Which configuration secures the conference room connectivity?

A)

inmterface gi1/0/18
switchport port-security mac-address 0000 abcd 0004 vian 100

B)

imterface gi1/0/15

switchport port-security

switchport port-security maximum 2
C)

interface gi1/0/M15
switchport port-security mac-address 0000 abcd 0004 vian 100
interface switchport secure-mac limit 2

D)

interface gi1/0/186
switchport port-security
switchport port-security mac-address 0000 abcd 0004 vian 100

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
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NEW QUESTION 104
- (Exam Topic 4)
Which WAN topology has the highest degree of reliability?

A. full mesh

B. Point-to-point

C. hub-and-spoke
D. router-on-a-stick

Answer: A

NEW QUESTION 105
- (Exam Topic 4)
Which type of IPv4 address type helps to conserve the globally unique address classes?

A. multicast
B. private
C. loopback
D. public

Answer: B
NEW QUESTION 108

- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.

i>lobal Unicast Address

confined to a single link

required on all JPve devices

Link-Local Address

is publicly routable in the same way as IPv4 addresses

proviges for one-to-one communication

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 109
- (Exam Topic 4)
Refer to the exhibit.
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PC A is communicating with another device at IP address 10.227.225.255. Through which router does router Y route the traffic?

A. router A
B. router B
C. router C
D. router D

Answer: C

NEW QUESTION 113
- (Exam Topic 4)
Refer to the exhibit.
— —
C
B

Host A switch interface is configured in VLAN 2. Host D sends a unicast packet destined for the IP address of host A.

Swil#show mac-address table
Mac Address Table

Wian  Mac Address Type Ports

000c.8535%c.bb7b DYNAMIC a1
A00c.B58c.bbTh DYNAMIC 2D
Q010 11de e DYNAMIC ely2
Q010.11de.3ed1  DYNAMIC elv2
0043.49d4.c383 DYMAMIC eldi3

R Lo B G R

SWlE
What does the switch do when it receives the frame from host D?

A. It creates a broadcast storm.

B. It drops the frame from the MAC table of the switch.

C. It shuts down the source port and places It In err-disable mode.
D. It floods the frame out of every port except the source port.

Answer: C

NEW QUESTION 117
- (Exam Topic 4)
What are two disadvantages of a full-mesh topology? (Choose two.)

A. It needs a high MTU between sites.

B. It has a high implementation cost.

C. It must have point-to-point communication.
D. It requires complex configuration.

E. It works only with BGP between sites.

Answer: BD

NEW QUESTION 122
- (Exam Topic 4)
Drag and drop each characteristic of device-management technologies from the left onto the deployment type on the right.
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relies on per-device managemen,

uses Individual software manragement

orchestrates background device corfiguration

supports open APls

provides greater flexibxlity for custom and non-standard
configurations

supports centralzed software management

A. Mastered
B. Not Mastered

Answer: A

Explanation:

A picture containing diagram Description automatically generated

NEW QUESTION 123
- (Exam Topic 4)
What differentiates device management enabled by Cisco DNA Center from traditional campus device management?

A. per-device

B. centralized

C. device-by-device hands-on
D. CLl-oriented device

Answer: B

NEW QUESTION 128
- (Exam Topic 4)
Drag and drop the statements about access-point modes from the left onto the corresponding modes on the right.

Mantor

A. Mastered
B. Not Mastered

Answer: A

Explanation:

A picture containing diagram Description automatically generated

Passing Certification Exams Made Easy

Clsco DNA Center

Traditional

It prowvides Br-Quiidy Cata and inderferends Selechon Mrods
enabled channels

It enables enhanced RFID-tag locabon tracking.

Tt supperts analybes Tor wirelass parformands Desting

It wupports real-Dme VW-Fi cheat roubiethooting when nebwork
engreers are offte.

it supports softwrare that analyzes wirsless frames on 3 remates
device.

M captudes and Terwards pachets on 8 specific wreleds channesl

visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 P QsseaQs U https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

NEW QUESTION 130
- (Exam Topic 4)

10 10.10 V30 10 10 10 4/3(

-

Caw Cow
- -

192168 1010 192 168 20 20 192 168 30 30

R2# show ip route

10.0.0.0/30 is subnetted, 2 subnets

€ 10.10.10.0 is directly connected, Serial0/0/0

C 10.10.10.4 is directly connected, FastEthernet0/1

D 192.168.10.0/24 [50/2172416) via 10.10.10.1, 01:05:11,
C 192.168.20.0/24 is directly connected, FastEthernet0/0

162 168 10 0724 192 168 20 0724 162 168 30 072

4

Serial0/0/0

D 192.168.30.0/24 [50/30720] wvia 10.10.10.6, 01:12:53, FastEthernet0/1

Refer lo the exhibit. What is the next-hop P address for R2 so that PC2 reaches the application server via EIGRP?

A.192.168.30.1
B. 10.10 105
C.10.10.10.6
D. 192.168.201

Answer: D

NEW QUESTION 131
- (Exam Topic 4)
Which QoS queuing method discards or marks packets that exceed the desired bit rate of traffic flow?

A. shaping
B. policing
C. CBWFQ
D.LLQ

Answer: B

NEW QUESTION 134
- (Exam Topic 4)
What is a function of MAC address learning?

A. It is enabled by default on all VLANs and interfaces

B. It increases the potential for MAC address flooding.

C. Itis disabled by default on all interfaces connected to trunks
D. It increases security on the management VLAN

Answer: A

NEW QUESTION 137
- (Exam Topic 4)

SIP-based Call Admission Control must be configured in the Cisco WLC GUI. SIP call-snooping ports are configured. Which two actions must be completed next?

(Choose two.)

A. Set the QoS level to silver or greater for voice traffic.

B. Set the QoS level to platinum for voice traffic.

C. Enable Media Session Snooping on re WLAN.

D. Enable traffic shaping for the LAN interlace of the WLC.

E. Configure two different QoS rotes tor data and voice traffic.

Answer: DE

NEW QUESTION 142
- (Exam Topic 4)

A Cisco engineer at a new branch office is configuring a wireless network with access points that connect to a controller that is based at corporate headquarters
Wireless client traffic must terminate at the branch office and access-point survivability is required in the event of a WAN outage Which access point mode must be
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selected?

A. Lightweight with local switching disabled
B. Local with AP fallback enabled

C. OfficeExtend with high availability disabled
D. FlexConnect with local switching enabled

Answer: C

NEW QUESTION 143
- (Exam Topic 4)
Which WLC interface provides out-of-band management in the Cisco Unified Wireless Network Architecture?

A. service port
B. virtual

C. AP-Manager
D. dynamic

Answer: A
NEW QUESTION 147

- (Exam Topic 4)
Drag and drop the characteristics of transport layer protocols from the left onto the corresponding protocols on the right.

frce
guarantees packet delivery
uses a 32-bit sequence number -
ideal for voice traffic
provides support for retransmission of lost packets Loe

offers minimal overhead within a packet

requires less computer resources

A. Mastered
B. Not Mastered

Answer: A
Explanation:
P—-—ﬁ—-—-—ﬁ—-—-ﬁ—-—-—_—-—
] [TCP
guarantees packet delrvery =
= = = = = = = = = = = = = = provicles support for retransmission of [0St packets )]
— | |
uses @ 32-bit sequence number ! ‘ |
e e e = L _| guarantees packet delivery |

lI ideal for voice traffic

uses a 32-bit sequence number

ideal for voice traffic

I offers minimal overhead within a packet li

— EEatl r—a — — —— — o —a — —_— e — — -

requires less computer resources

requires less computer resources |]
]

offers minimal overhead within a packet ﬂ

NEW QUESTION 151
- (Exam Topic 4)
What is a benefit of using private IPv4 addressing?
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A. Multiple companies can use the same addresses without conflicts.

B. Direct connectivity is provided to internal hosts from outside an enterprise network.
C. Communication to the internet Is reachable without the use of NAT.

D. All external hosts are provided with secure communication to the Internet.

Answer: A

NEW QUESTION 154
- (Exam Topic 4)
What is the advantage of separating the control plane from the data plane within an SDN network?

A. decreases overall network complexity

B. limits data queries to the control plane

C. reduces cost

D. offloads the creation of virtual machines to the data plane

Answer: A

NEW QUESTION 156
- (Exam Topic 4)
Refer to the exhibit.

An engineer is checking the routing table in the main router to identify the path to a server on the network. Which route does the router use to reach the server at

192.168.2.27?

A. S 192.168.0.0/20 [1/0] via 10.1.1.1
B. S 192.168.2.0/29 [1/0] via 10.1.1.1
C. S 192.168.2.0/28 [1/0] via 10.1.1.1
D. S 192.168.1.0/30 [1/0] via 10.1.1.1

Answer: B

NEW QUESTION 160
- (Exam Topic 4)

When a WPA2-PSK WLAN is configured in the Wireless LAN Controller, what is the minimum number of characters that is required in ASCII format?

2

.6
.8
.1
.18

o0 w>

Answer: B

NEW QUESTION 165
- (Exam Topic 4)
What is a benefit for external users who consume public cloud resources?

A. implemented over a dedicated WAN

B. located in the same data center as the users
C. all hosted on physical servers

D. accessed over the Internet

Answer: D

NEW QUESTION 166

- (Exam Topic 4)

How do TCP and UDP fit into a query-response model?

A. TCP establishes a connection prior to sending data, and UDP sends immediately.
B. TCP uses error detection for packets, and UDP uses error recovery.

C. TCP avoids using sequencing, and UDP avoids using acknowledgments.

D. TCP encourages out-of-order packet delivery, and UDP prevents re-ordering.

Answer: A
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NEW QUESTION 168
- (Exam Topic 4)
Refer to the exhibit.

T 10.73.65.64/30
Loopback: g
10.10.1.14/32

Loopback0:
10.10.1.86/32

Fal/'0 Fad/D

All interfaces are configured with duplex auto and ip ospf network broadcast. Which configuration allows routers R14 and R86 to form an OSPFv2 adjacency and

act as a central point for exchanging OSPF information between routers?
R14#
interface FastEthernet0/0
ip address 10.73.65.65 255.255.255.252
ip ospf priority 0
ip mtu 1500

router ospf 10

router-id 10.10.1.14

network 10.10.1.14 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0
RBG#

interface FastEthernet0/0

ip address 10.73.65.66 255.255.255.252
ip mtu 1500

router ospf 10
router-id 10.10.1.86
network 10.10.1.86 0.0.0.0 area 0
| network 10.73.65.64 0.0.0.3 area 0

R14#%
interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf priority 255

ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.14

RE6#
interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.66 255.255.255.252
ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.86
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R14#

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf priority 255

ip mtu 1500

router ospf 10

router-id 10.10.1.14

network 10.10.1.14 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0
R86#

interface FastEthernet0/0

ip address 10.73.65.66 255.255,255.252
ip mtu 1400

router ospf 10

router-id 10.10.1.86

network 10.10.1.86 0.0.0.0 area 0
network 10.73.65.64 0.0.0.3 area 0

R14#
interface Loopback(
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.65 255.255.255.252
ip ospf 10 area 0

ip mtu 1500

router ospf 10

ip ospf priority 255
router-id 10.10.1.14
R86#

interface Loopback0
ip ospf 10 area 0

interface FastEthernet0/0

ip address 10.73.65.66 255.255,255,252
ip ospf 10 area 0

ip mtu 1500

router ospf 10
router-id 10.10.1.86

A. Option A
B. Option B
C. Option C
D. option D

Answer: B
NEW QUESTION 169

- (Exam Topic 4)
Refer to the exhibit.

Entry #

1 192.168.10.0 255.255.254.0

2 192.168.10.0 255.255.255.192
3 192.168.10.0 255.255.0.0

1 192.168.10.0 255.255.224.0

Which entry is the longest prefix match for host IP address 192.168.10.5?

00 w»
A WDNPE

Answer: B

NEW QUESTION 173
- (Exam Topic 4)
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Which benefit does Cisco ONA Center provide over traditional campus management?

A. Cisco DNA Center leverages SNMPv3 tor encrypted management, and traditional campus management uses SNMPv2.
B. Cisco DNA Center automates HTTPS for secure web access, and traditional campus management uses HTTP.

C. Cisco DNA Center leverages APls, and traditional campus management requires manual data gathering.

D. Cisco DNA Center automates SSH access for encrypted entry, and SSH Is absent from traditional campus management.

Answer: B
NEW QUESTION 174

- (Exam Topic 4)
Refer to the exhibit.

Switch2# show lldp
Global LLDP Information
Status: ACTIVE
LLDP advertisements are sent every 30 seconds
LLDP hold time advertised is 120 seconds
LLDP interface reinitialization delay is 2 seconds

A network engineer must update the configuring on switch2 so that it sends LLDP packets.
A)

Switch2(config)#lidp timer 1

Switch2(config#lldp tlv-select 3

B)

Switch2(config)#lldp timer 1
Switch2(config)#lldp holdtime 3

C)
Switch2(config)#lldp timer 60
Switch2(config)#lldp holdtime 180

D)

Switch2(config)#lldp timer 60
Switch2(config)#lldp tlv-select 180

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 177
- (Exam Topic 4)
Which component controls and distributes physical resources for each virtual machine?

A. OS

B. hypervisor
C.CPU

D. physical enclosure

Answer: B

NEW QUESTION 178
- (Exam Topic 4)
How does authentication differ from authorization?

A. Authentication verifies the identity of a person accessing a network, and authorization determines what resource a user can access.

B. Authentication is used to record what resource a user accesses, and authorization is used to determine what resources a user can access

C. Authentication is used to determine what resources a user is allowed to access, and authorization is used to track what equipment is allowed access to the
network

D. Authentication is used to verify a person's identity, and authorization is used to create syslog messages for logins.

Answer: A
NEW QUESTION 180
- (Exam Topic 4)

An engineer has configured the domain name, user name, and password on the local router. What is the next step to complete the configuration tor a Secure Shell
access RSA key?
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A. crypto key Import rsa pem
B. crypto key pubkey-chain rsa
C. crypto key generate rsa

D. crypto key zeroize rsa

Answer: C

NEW QUESTION 183
- (Exam Topic 4)

Which properly is shared by 10GBase-SR and 10GBase-LR interfaces?

A. Both require fiber cable media for transmission.
B. Both require UTP cable media for transmission.
C. Both use the single-mode fiber type.

D. Both use the multimode fiber type.

Answer: A
NEW QUESTION 185

- (Exam Topic 4)
Refer to the exhibit.

General | Security | QoS | Policy-Mapping

Layer2 | Layer 3 | AAA Servers

Layer 2 Security & | WPA+WPA2 v
MAC Filtering2

Fast Transition

Fast Transition
Protected Management Frame

PMF Required v
WPA+WPA2 Parameters

WPA Policy

WPAZ Policy

WPAZ Encryption AES TKIP

OSEN Policy

Authentication Key Management 19

BO2.1X Enable

CCKM Enable

PSK Enable

FT BO2.1X Enable

FT PSK Enable

PSK Format ASCII ¥

';'u"‘PA gtk-randomize State Disable ¥

] Advanced |

The network engineer is configuring a new WLAN and is told to use a setup password for authentication instead of the RADIUS servers. Which additional set of

tasks must the engineer perform to complete the configuration?

A. Disable PMF Enable PSK Enable 802.1x

B. Select WPA Policy Enable CCKM Enable PSK

C. Select WPA Policy Select WPA2 Policy Enable FT PSK
D. Select WPA2 Policy Disable PMF Enable PSK

Answer: D

NEW QUESTION 188
- (Exam Topic 4)
Refer to the exhibit.
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R1# show ip routa
Codas: C - connected, § - static, I - IGRP, R - RIP, M - mobile, B - BGP
D - EICRP, EX - EIGRPF external, © - OSPF, IA - OSPF inter area
Nl - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF extamal typa 1, E2 - OSPF extarmal type 2, E - EGP
i I8-1I8, L1 - IS8-I8 lewwl-1, L2 - IS-1I8 lewwl-2, * - candidate
default
U - par-usar static routa, o - ODR
Cateway of last resort is not set
C 10.0.0.0/8 is directly connected, Loopback(
10.0.0.0/8 is variably subnetted, 4 subnets, 2 masks
10.0,1,3/32 [110/100] wia 10.0.1.100, 00:39:08, Seriald
10.0.1.0/24 is directly connacted, Seriall
10.0,1.5/32 [110/5] via 10.0.1.50, 00:39:08, Gigabit Ethernet 0/0
10.0.1.4/32 [110/10] wia 10.0.1.4, 00:39:08, Gigabit Ethermet 0/0

2o 00

What does route 10.0.1.3/32 represent in the routing table?

A. the 10.0.0.0 network

B. a single destination address
C. the source 10.0.1.100

D. all hosts in the 10.0.1.0 subnet

Answer: A

NEW QUESTION 192
- (Exam Topic 4)

A network engineer is replacing the switches that belong to a managed-services client with new Cisco Catalyst switches. The new switches will be configured for
updated security standards, including replacing Telnet services with encrypted connections and doubling the modulus size from 1024. Which two commands must

the engineer configure on the new switches? (Choose two.)

A. crypto key generate rsa general-keys modulus 1024
B. transport input all

C. crypto key generate rsa usage-keys

D. crypto key generate rsa modulus 2048

E. transport Input ssh

Answer: AE
NEW QUESTION 193

- (Exam Topic 4)
Refer to the exhibit.

Rlfishow ip ospf interface g0/0/0
GigabitEthernet0/0/0 is up, line protocol is up
Internet address is 192.168.1.2/24, Area 0

Transmit Delay is 1 sec, State POINT-TO-POINT,

Timer intervals configured, Hellc 15, Dead 20, Wait 20, Retransmit 5
Hello due in 00:00:08

Index lflr flood queue length 0

Next 0x0(v)/0x0(0)

Last flood scan length is 1, maximum is 1

Last flood scan time is 0 msec, maximum is 0 msec

Suppress hello for 0 neighbor(s)

R2#show ip ospf interface g0/0/0
GigabitEthernet0/0/0 is up, line protocel igfjup
Internet address is 192.168.1.1/24, Area 0
Process ID 1, Router ID10.1.1.1, Network Type POINT-TO-POINT, Cost: 1
Transmit Delay is 1 sec, State POINT-TO-POINT,
Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5
Hello dues in 00:00:11
Index 1/1, flood queue length 0
Naxt 0x0(0)/0x0({0)
Last flood scan length is 1, maximum is 1
Last flood scan time is 0 msec, maximum is 0 msec
Suppress helle for 0 neighbor(s)

Process ID 1, Router ID 192.168.1.2, Network Type POINT-TO-POINT, Cost:

The network engineer is configuring router R2 as a replacement router on the network After the initial configuration is applied it is determined that R2 failed to show
R1 as a neighbor Which configuration must be applied to R2 to complete the OSPF configuration and enable it to establish the neighbor relationship with R1?

A)
R2{confiq ¥router ospf 1

RZ(config-router #network 192.168.1.0 255.255.255.0 area 2
R2(config-router #network 10.1.1.0 255.255.255.255 area 2

B)
R2(config Wrouter ospf 1
R2{confg-router router-id 192.168.1.2

C)
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R2(config @interface g0/0/0
R2(config-fi#ip espf dead-interval 20
D)

R2({config Hinterface gO/0/0
RZ(config-Mzip ospf hello-interval 15
RZ(config4l¥ip ospf dead-intenqal 20

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 196
- (Exam Topic 4)

What determines the sequence in which materials are planned during the material requirements planning (MRP) run?

A. The control parameters of the MRP run

B. The creation date of the materials

C. The low-level code of the materials

D. The replenishment lead time of the materials

Answer: C

NEW QUESTION 200

- (Exam Topic 4)

Drag and drop the TCP or UDP details from the left onto their corresponding protocols on the right.
P 1

braremiticd based on data corganed in the packel without Hae
nead for a data channel

prosedes boss-cffart service

requires e clent and the saerser toestablich a connaction befone
sending the packet

supports refisbie data ransmessaon

A. Mastered
B. Not Mastered

Answer: A

Explanation:

1
— — —— fr— [r— — — [— — — r— J— — . - . . O O O e . -4

traremitied based on data condaned in the packet without the equires the client and the server to estatlish a connaction :w,t.:ml
nead for a data channel | sending the packet |

— —
— —-— -— -_— — L — -— —-—
| prowvides best-effart servios I ‘ supports refiable data fransmesson

traremitiod based on data cortaned in the packet withoul the
need for & data chanre|

—_— — —
'-"'JPWF"‘ refiabie data Framemessor — — — — e e e

orossdes bos-offart servion %

NEW QUESTION 202
- (Exam Topic 4)
Refer to the exhibit.
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Cisco

SECUrty

* AAA
User Name

= RADI Password
DUESt User
Guest User Role

WLAN Profie

- bl Desoniplicn

MONITOR WLANSs

Lf '._'-'!|| Hl't L)":n'!';

Confirm Password

Lifetime (seconds)

CONTROLLER

* New

WIRELESS

MA-LUsar
sesnsnsas
samsnsnns

56400

Ay WLAN w

For NA WLAN Auth

SECURITY

MANAGEMENT  COM

Wireless LAN access must be set up to force all clients from the NA WLAN to authenticate against the local database. The WLAN is configured for local EAP
authentication. The time that users access the network must not be limited. Which action completes this configuration?

A. Uncheck the Guest User check box

B. Check the Guest User Role check box
C. Set the Lifetime (seconds) value to 0
D. Clear the Lifetime (seconds) value

Answer: C

NEW QUESTION 206
- (Exam Topic 4)

A client experiences slow throughput from a server that is directly connected to the core switch in a data center. A network engineer finds minimal latency on
connections to the server, but data transfers are unreliable, and the output of the show Interfaces counters errors command shows a high FCS-Err count on the
interface that is connected to the server. What is the cause of the throughput issue?

A. high bandwidth usage
B. a physical cable fault
C. a speed mismatch

D. a cable that is too long

Answer: B

NEW QUESTION 207
- (Exam Topic 4)

Drag and chop the TCP/IP protocols from the left onto their primary transmission protocols on the right.

NS

HTTP

SMTP

SHMP

Tt lrwet

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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[rce
NS

SMTP

ENMD

HTTP

NEW QUESTION 212
- (Exam Topic 4)
Refer to the exhibit.

_M}Huﬁwlﬂlm[m_
layer 2 Layer3 | AAA Servers

Laver 1 Secunty # WP« WA "
MAL Filtgring?
Fast Transdtion

Fast Trandation
Prodectod Managoment Tranw

PIF Reguired
WEPA I WPAZ Paramelers
WPA Policy
WPAZ Polcy
WRAZ Encryplion AES TKIP
OSEN Pobly

At et bcation Key Manasgement 12

BO2.1X Enabie

COxM E nabie

PS5 Enabie

FT 802.1X Enable

FT PSK Enable

Po Farmat ASLIL w

WPA gtk-randomize State o
i1 -

A)

Select WPA Policy
Select WPA2 Policy
Enable FT PSK

B)

Select WPA2 Policy
Disable PMF

Enable PSK

C)

Select WPA Policy
Enable CCKM
Enable PSK

D)

Disable PMF
Enable PSK
Enable 802.1x

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: C

NEW QUESTION 217
- (Exam Topic 4)

A switch is a forwarding a frame out of an interfaces except the interface that received the frame. What is the technical term for this process?

A. ARP

B. CDP

C. flooding
D. multicast

Answer: C

NEW QUESTION 218
- (Exam Topic 4)

Two switches have been implemented and all interfaces are at the default configuration level. A trunk link must be implemented between two switches with these

requirements:

* using an industry-standard trunking protocol

« permitting VLANs 1 -10 and denying other VLANs How must the interconnecting ports be configured?
A)

switchport mode dynamic

channel-protocol lacp

switchport trunk allowed vians 1-10

B)

switchport mode trunk
switchport trunk encapsulation dotiq
switchport trunk allowed vians 1.10

C)

switchport mode trunk
switchport trunk allowed vians 1-10
switchport trunk native vian 11

D)

switchport mode dynamic desirable
channel-group 1 mode desirable

switchport trunk encapsulation isl
switchport trunk allowed vian except 11-4094

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 222

- (Exam Topic 4)
Refer to the exhibit.

routers show 1p route

172.18.32.0/26 [‘)ﬂ"‘?"ﬂg" 7] via 10.1.1.1
1?2,18.32.0-24 [120/4] via 10.1.1.2

172.18.32.0/19 [110/229840] via 10.1.1.3
172.18.32.32/32 1s directly connected. Loopback0
172.18.32.36/30 15 directly connected. GigabitEthernet0/0

172.18.32.37/32 1s directly connected, GigabitEthernet(/0

O®U:

~

s el T

—
k

A packet sourced from 172.18.33.2 is destined for 172.18.32.38. Where does the router forward the packet?
A. GigabitEthernet0/0

B. Loopback0

C.10.1.1.1

D.10.1.1.3

Answer: B

NEW QUESTION 227
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- (Exam Topic 4)
Refer to the exhibit. User traffic originating within site 0 is failing to reach an application hosted on IP address 192.168 0 10. Which is located within site A What is
determined by the routing table?

A. The default gateway for site B is configured incorrectly

B. The lack of a default route prevents delivery of the traffic

C. The traffic is blocked by an implicit deny in an ACL on router2

D. The traffic to 192 168 010 requires a static route to be configured in router 1.

Answer: B

NEW QUESTION 228
- (Exam Topic 4)
What is the collapsed layer in collapsed core architectures?

A. core and WAN

B. access and WAN

C. distribution and access
D. core and distribution

Answer: D
NEW QUESTION 229

- (Exam Topic 4)
Refer to the exhibit.

R1® show ip route
Codas: L - local, C - connacted, § - static, R - RIF. M - mobile, B - BOF
D - EIGRP, EX - EIGRP sxtarnal, © - OSFF, IA - OSFF intar aréa
Nl = OSPF N3SSA external type 1, N2 - OSPF NESA axternal typs 2
El - OSFF external type 1, EI - OSFF external type 2, B - EGP
i = I5-1I5, L1 - I5-15 level-l, L2 - I15-15 level-2, 1a - I5-15 inter area
* - candidate default, U - par-user staAtic routa, o - ODR
¥ - paricdic downloadsd static route

Gateway of last resort is not set

10.0.0.0/24 is subnetted, 3 subnets
D 10.1.2.0/24 [90/2170112] wia 10.165.20.226, 00:01:30, Seriald/Q
D 10.1.3.0/24 [90/2170112) wia 10.165.20.226, 00:01:30, Sariald/0
D 10.1.2.0/23 [90/2170112) wia 10.165.20,126, C0:01:30, Seriald/0
D 10.1.3.0/25 [90/72170112) wia 10,165.20.146, ©0:01:30, ZarialdS/0
D 10.1.4.0/25% [90/2170112] wia 10.165.20.156, 00:01:30, Seriald/Q
192 .168.1.0/24 Lia variably subnattad, 2 aubneta, 2 maaks
c 192 .18.10.0/24 1s directly connactsd, GigabitEtharnst(/0

192 .168.21.0/24 is variably subnetted, 2 subnets, 2 masks
C 192.168.11.0/724 is directly connected, GigabitEthernet(/1
10.163.20.0/24 is variably subnetted, 2 subnets, I masks
10.165.20.224/24 is directly connacted, Sarial0/0
5 10.1.2.112/28 [1/0) vi& 10.163.20.166

]

What is the next hop for traffic entering R1 with a destination of 10.1.2 1267

A. 10.165 20.126
B. 10.165.20.146
C. 10.165.20.166
D. 10.165 20.226

Answer: D

NEW QUESTION 230
- (Exam Topic 4)
Refer to the exhibit.
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M1M'MW Advanced

Allow AR Ovemide Enabled DHCP
Coverage Hole Detection [ Enabled DHCP Server @ Overnde
Enable Session Timeout o 1800
Session Timeout (5ecs) 0.0.0.0
Alronet [E Enabled DHCP Server 1P Addr
DHCP Addr. mént Req
Diagnastic Channel 48 Enabled HCP Adcr. Assignme ired
] F P i MFP
Override Interface ACL IV None ﬂ 6 None H anagement Frame Protection | )
Layer2 Ad None [
e o MFP Client Protection 4 Optional H
URL ACL None [
DTIM Perlod (in beacon intervals)
P2P Blocking Action Disabled ¥

UBap: KO tpechy 802.11b/g/n (1 - 255) 1
Maximum Aliowed Clients 0

i NAC
Static [P Tunneling 44 Enabled NACState None [
Wi-F Direct Clients Policy  Disabled H. Load Balancing and Band Select
Maximum .I.uhned Clients 200 Client Load Balancing
Per AP Radio

Client Band Select

The P2P blocking action option is disabled on the WLC.

A. Enable the Static IP Tunneling option.

B. Disable the Coverage Hole Detection option.

C. Check the DHCP Add

D. Assignment check box.

E. Set the P2P Blocking Action option to Forward-UpStream.

Answer: A

NEW QUESTION 231
- (Exam Topic 4)
Refer to the exhibit.
Last clearing of "show interface" counters never
Input queue: 1/75/1/0 (size/max/drops/flushes); Total output drops: 0
gueunaing strateqy: random early detection(RED)
Output gueus 040 (size/max)
5 minute input rate 1000 bits/sec, 2 packets/sec
5 minute cutput rate 0 bits/sec, 0 packets/sec
TELB0ES packets input, THITHE942 bytes, 1 no buffer
Received B280963 broadcasts, 0 ruants, 0 giants, 1 throttles
15 input errors, 14278 CRC, 0 frame, 0 owverrun, 3 ignored
0 input packets with dribble condition detectad
798092 packets ocutput, 50280266 bytes, 0 underruns
0 output errors, 15000 collisions, 0 interface resets
0 babbles, 0 late collision, 179 deferred
0 lost carrier, 0 no carrier
0 eutput buffer failures, 0 cutput buffers swapped out

An administrator received a call from a branch office regarding poor application performance hosted at the headquarters. Ethernet 1 is connected between Routerl
and the LAN switch. What identifies the issue?

A. The QoS policy is dropping traffic.

B. There is a duplex mismatch.

C. The link is over utilized.

D. The MTU is not set to the default value.

Answer: C

NEW QUESTION 232
- (Exam Topic 4)
Drag and drop the characteristic from the left onto the IPv6 address type on the right.
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cannot be used as a source address

sends packets to a group address rather than a single address

confined to a single link

required on all IPvE devices

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Multicast

Link-Local Address

Graphical user interface, application Description automatically generated

NEW QUESTION 233

- (Exam Topic 4)
Drag and drop the QoS terms from the left onto the descriptions on the right.
cotegonises packets based on the
ireBesed weighied Fir qamieing vaue of 2 Uaff descriptor
guarantiens rirsmum bandwidth 1o spocific raffic
Classiication classes when an interface is congested
prevents congestion by reducing
Congaetion thi ficwy of outbound traffic
I |
po g outcome of overutilization
usies dofined orilenia to Brdt the transnission
shaping of one or more classes of traffic

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Table Description automatically generated

NEW QUESTION 236
- (Exam Topic 4)
Refer to the exhibit.

{

}

YwEWl® : [*Ten-GigabitEthernetd/0, “Pen-GigabitEthernetd/f1v],
“EW2Y . ["“Ten-GigabitEthernet(/0”, “Ten-GigabitEthernet0/17],
“SH3IT : [*Ten-GigabitBEthernetd/0¥, “Ten-GigabitEthernet0/17],
wgEWdr . ["Ten-GigabitEthernetd/ 0", “Ten-GigabitEthernet0/1"]

How many JSON objects are represented?

00w
A WDN P

Answer: D

NEW QUESTION 238
- (Exam Topic 4)
Refer to the exhibit.
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When router R1 receives a packet with destination IP address 10.56.0 62. through which interface does it route the packet?

A. Nullo

B. Vlan58
C. Vlan60
D. Vlan59

Answer: B

NEW QUESTION 239
- (Exam Topic 4)
Which IP header field is changed by a Cisco device when QoS marking is enabled?

A. Header Checksum
B. Type of service

C. DSCP

D. ECN

Answer: B
NEW QUESTION 244

- (Exam Topic 4)
An engineer must configure a core router with a floating static default route to the backup router at 10.200.0.2.

TCP
DMS |
HTTP
RTP
SMTP UDP
ShMP
Teinet ] |
A. Mastered
B. Not Mastered
Answer: A
Explanation:
[ e e e e TCP
! DNS | 5o :
—_— SR HTTF

' HTTP :

B - — — = 2T e psmoaeeoee iR ! | SMTP
. RTP : Telnet
j T it St S TS N L SR S S S SRE TR RE IS ol St
R o e e e e e _

[ SMTP i (]p]=]

LI _tx gk __TE TS _IE N __JE N ST Ik R E_IE_ NN _______'.I 1.
e e e e e DNS 1
j ' |

SHMP !

——————————————————— : SNMP
 Eta e e b o e e e e S 1 J
| Telnet I
e i e e e i ik RTP

NEW QUESTION 246
- (Exam Topic 4)
What must be considered for a locally switched FlexConnect AP if the VLANSs that are used by the AP and client access are different?

A. The APs must be connected to the switch with multiple links in LAG mode
B. The switch port mode must be set to trunk
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C. The native VLAN must match the management VLAN of the AP
D. IEEE 802.10 trunking must be disabled on the switch port.

Answer: C

NEW QUESTION 250

- (Exam Topic 4)

What is the role of nonoverlapping channels in a wireless environment?
A. to reduce interference

B. to allow for channel bonding

C. to stabilize the RF environment

D. to increase bandwidth

Answer: A

NEW QUESTION 251

- (Exam Topic 4)
Refer to the exhibit.
Ge0/2 Ge0/2
= Ge0/1 Ge0/
Ge0/0 A Ge0/0
PC1

LACP Port Channel 1

PC1 regularly sends 1800 Mbps of traffic to the server. A network engineer needs to configure the EtherChannel to disable Port Channel 1 between SW1 and SW2
when the Ge0/0 and Ge0/1 ports on SW2 go down. Which configuration must the engineer apply to the switch?

A)

SW2# configure terminal

SW2(config)# interface port-channel 1

SW2(config-if)# lacp port-priority 32000

B)

SW2# configure terminal
SW2(config)# interface port-channel 1
SW2(config-ify# lacp max-bundle 2

C)

SW2# configure terminal
SW2(config)# lacp system-priority 32000

D)

SW2# configure terminal
SW2(config)# interface port-channel 1
SW2(config-if)# port-channel min-links 2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 254
- (Exam Topic 4)
Drag and drop the steps in a standard DNS lookup operation from the left into the order on the right.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps
Q 2 P QsseaQs "J https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

An endpont submits & request for the i

P address of a domam name.
Thie DNS receives a reply from the doman DNS server 2
The DNS responds b the andpont, 3
The DS submas 3 reQuest 10 & root DNS server. 4
The DNS submits a request to the domain DNS server 3

A. Mastered
B. Not Mastered

Answer: A
Explanation:
An endpoent submits 3 reguest for the I An endpont submits 3 request for the
IP address of » domam name l IP sddress of o domaun name
- S e
The DNS receives & reply from the doman DNS serve: The DNS submats 2 request 1o the doman DNS serve |
_______________ T |
l -1
' The DNS responds to the endpont. The DNS SuDMCS & MeQuEsT T0 3 rool DNS servr
— - — — —— N R — T
’ The DNS SUbmMTS 3 réQuest to 2 root DNS senver, [ Thee DS recenves a reply from the doman DNS senvee I
N aa Sl S B e SR s = i 1 |
|
The DNS submits & recuest 1o the doman DNS servee | : The DS responds 1o the endpont.
NEW QUESTION 256
- (Exam Topic 4)
Drag and drop the statement about AAA services from the left to the corresponding AAA services on the right.
e
It grants access to network assets, such as FTP servers. e
It restricts the CLI commands that a user is able to perform,
It performs user validation via TACACS+, s

It records the duration of each connection,

It supports User Access Reporting.

It verifies "who you are”,

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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It grants access to network assets, such as FTP servers,

e
|
[ It restricts the CLI commands that a user is able to perform. |
< |
| I
| It performs user validation via TACACS+ |
A S -SSP ——
' It records the duration of each connaction, i
|
:..._____.. -I
] It supports User Access Reporting. |
R I
l It verifies “who you are I
e R 4

NEW QUESTION 258
- (Exam Topic 4)

Accounting

It supports User Access Reporting.

1t restricts the CLI commands that a user is able to perform.

-

PAuthorization

It performs user validation via TACACS+,

It grants access to network assets, such as FTP servers.,

A network engineer is upgrading a small data center to host several new applications, including server backups that are expected to account for up to 90% of the
bandwidth during peak times. The data center connects to the MPLS network provider via a primary circuit and a secondary circuit. How does the engineer

inexpensively update the data center to avoid saturation of the primary circuit by traffic associated with the backups?

A. Assign traffic from the backup servers to a dedicated switch.

B. Configure a dedicated circuit for the backup traffic.
C. Place the backup servers in a dedicated VLAN.

D. Advertise a more specific route for the backup traffic via the secondary circuit.

Answer: A

NEW QUESTION 262
- (Exam Topic 4)

An engineer is configuring a switch port that is connected to a VolP handset. Which command must the engineer configure to enable port security with a manually

assigned MAC address of abod-bod on voice VLAN 4?

A. switchport port-security mac-address abcd.abcd.abcd

B. switchport port-security mac-address abed.abed.abed vlan 4
C. switchport port-security mac-address sticky abcd.abcd.abcd vlan 4
D. switchport port-security mac-address abcd.abcd.abcd vlan voice

Answer: A

NEW QUESTION 263
- (Exam Topic 4)
Refer to the exhibit.

Media State . :

Connection- lptclrl: DHS Eu!tl:

Deascription . - . &
Controller

Fhyaical Address. ST it &

DEHCF Enabled. . . . . . . . . . : YTes

Aptoconfiguration Enahl-d . - . : Yas

Wirelass LAN adaptar Wi-Fi:
Connection-specific DNS Sulffix : arcep.se
Description . S e

Wirelesa-AC T2635

DHCF Server . . . .
DECIFvE 1IAID . i . . 0 ., ¢ 466TOLES
DECPvS Clisnt DUID.
DHE Sarvers . ; i .
HetBIOS over T:p.'lp AR Enabled

Connection-apecific DME h!lu m:ch List :

arcep.se

: Media disconnested
: Feaaltek PCIe GBHE Family

: AC-52-82-33-P3-8F

: Intel (R} Dual Band

Physical Address. .+ 2 2 .« : CB-21-38-BA-F3-EF

DHCP Enabled. . . | . . . " Yea

Autoconfiguration Imlhlnd e - .+ : Yas

Link=-local IPvE Address . , ¢ feB0; 45al ' b3fa:2f37 BE3ATHE (Frefarred)
IPvd Address. . . . . . . . . . ! 192.168.1 226 (Preferred)

Subnat Mask . . . . . o .+ 255%.255.23%.0

Leass Obtained. . . . “ s . @ October 3, 2019 12:28:08 ™

Laasa Explres . . . . . . . . . : Octobar 3, 201% T:18:37 PM

Default Gateway i & e s o« o« o2 192.188.1.100

s o oe e ow s o 192.188.1.234

s e s . . 00=-01-00-01-20-FF-053-535-3C-52-82-33-D3-84
t192.168.1.23%3

The given Windows PC is requesting the IP address of the host at www.cisco.com. To which IP address is the request sent?

A.192.168.1.226
B. 192.168.1.100
C. 192.168.1.254
D. 192.168.1.253
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Answer: D

NEW QUESTION 267
- (Exam Topic 4)
Refer to the exhibit.

Gearral Sequrily Ju% Faliiy Mapping “‘I'Ihll:l‘1

tayer 7 | Layerd .I..A.-‘I"rmn

What are the two steps an engineer must take to provide the highest encryption and authentication using domain credentials from LDAP?

A. Select PSK under Authentication Key Management
B. Select WPA+WPA2 on Layer 2 Security

C. Select Static-WEP + 802.1X on Layer 2 Security
D. Select WPA Policy with TKIP Encryption

E. Select 802.1X from under Authentication Key Management

Answer: BE

NEW QUESTION 272
- (Exam Topic 4)
Refer to the exhibit.

R1# show 1p roi

® ¥ & &

172.16.32.0/19

1/2.16.32.0/24

] i. .- -.1‘ - I:-'I-a _u-.. | .I'I."r1

An engineer executed the script and added commands that were not necessary for SSH and now must remove the commands.

A. metric

B. cost

C. longest prefix

D. administrative distance

Answer: D

NEW QUESTION 273
- (Exam Topic 4)

Drag and drop the characteristic from the left onto the IPv6 address type on the right.

QFD‘-"ICIE‘S for one-to-one communication

confined to a single link

Global Unicast Address

serves as the next-hop addresses

is routable and reachable via the Internet

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
Graphical user interface, application Description automatically generated

NEW QUESTION 276
- (Exam Topic 4)

Drag and drop the use cases for device-management technologies from the left onto the corresponding.

Cisco DNA Center

overlay and undearay configuration

routed access denloyment

STP deplovment

VLAN and HSRP configuration [Traditional

WXLAN and LISP configuration

configuration wia console

A. Mastered
B. Not Mastered

Answer: A
Explanation:
______ T T T T e e e
I overlay and underlay configuration
e R R SR e T T T R S R AR overlay and underay configuration
| I —
routed access deployment .
e e T g -t R L S T R | routed access deplovment
STP deployment | STP deplovment
--------------- -
V0LAN and HSRP configuration | [Traditional
YWLAN and HSRP configuration
I
I VXLAN and LISP configuration |
WXLAN and LISP configuration
| configuration wia console I
R —— S =} configuraen wia console
|

NEW QUESTION 278
- (Exam Topic 4)
What is the primary purpose of a console port on a Cisco WLC?

A. In-band management via an asynchronous transport

B. out-of-band management via an IP transport

C. in-band management via an IP transport

D. out-of-band management via an asynchronous transport

Answer: D

NEW QUESTION 282
- (Exam Topic 4)
Refer to the exhibit.
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Codes: L - lecal, C - connacted, 8§ - static, R - RIF, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
Nl - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
El - OSPF oxternmal typs 1, E2 - OSPF sxtarnal type 2
i - I§-18, su - IS-I5 summary, L1 - IS§-1§ level-1l, L2 - IS-IS level-1
ia - 15-1I5 inter area, " - candidate defasult, U - par-user static route
© - ODR, P - periodic downloaded static route, M - NHRP, 1 - LISP
a - applicatioa route
# = replicated route, | - next hop override, p - overrides from PIR
Gateway of last resort is 0.0.0.0 to network 0.0.0.0
s* 0.0.0.0/0 is directly comnnected, NullD
10.0.0.0/8 is wvariably subnetted, & subnets, 2 masks
10.0.12.0/24 is directly connected, GigabitEthernetD/1
10.0.12.1/32 is directly connected, GigabitEthernetD/1
10.0.13.0/24 is directly connected, GigabitEthernet0/2
10.0.13.1/32 is directly connected, GigabitEthermat0/21
10.0.14.0/24 is directly connected, GigabitEthernet0/)
10.0.14.1/32 is directly connected, GigabitEthernet0/)
192.168.0.0/16 |90/130816) wia 10.0.13.3, 00:10:09, GigabitEthernet0/21
192.168.0.0/23 [110/2] via 10.0.14.4, 00:00:46, GigabitEthernetd/)
192.168.0.0/24 [100/0) wvia 10.0.12.2

moOEFEACrACN

Which interface is chosen to forward traffic to the host at 192.168.0.55?

A. GigabitEthernetO
B. GigabitEthernet0/1
C. Nullo

D. GigabitEthernet0/3

Answer: B

NEW QUESTION 285
- (Exam Topic 4)
Drag and drop the characteristics of device-management technologies from the left onto the corresponding deployment types on the right.

| Koo DiNA Center

orchestrates Dadground device Configuraton

- - |

proides greater fNoabslty for custom and non-standard
configurations

el ON DiF-S8O08 Mand i’ |

SUPDOMTE Cehtralaed SOMWGETE Management

wpoorts open AP

uses indnadud softaare management

A. Mastered
B. Not Mastered

Answer: A

Explanation:

— - = ——w—— =

Cisco DA Conter
orchesrates baluground oevice Configuraton

SUDOOTS Centraired software management

prowvides greater fleobslty for custom and non-standard I |_ —y
configurations orchestrates Background Sevice Configurabon
TS Of D -0@icE MINdJeTent I e N D - Qe Management l
au - = o — w— B I e T e
|
sUpports cantrakzed software management F fradmonal
______________ provides greater fleablty for custom M0d non-standard
I-_.L-_.L-._u_.._-_ e -_.-_-_-._F r MJ cll‘j'..'l':"i‘:
WDOOME open AP \ — —y
e e e s ndnidull software managerment
e AU SOMANE MANIgemEnt i
S R e N e N b g e S el e B supports open APlS
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NEW QUESTION 288
- (Exam Topic 3)

Which QoS traffic handling technique retains excess packets in a queue and reschedules these packets for later transmission when the configured maximum

bandwidth has been surpassed?

A. weighted random early detection
B. traffic policing

C. traffic shaping

D. traffic prioritization

Answer: C

NEW QUESTION 289
- (Exam Topic 4)
What is the purpose of using First Hop Redundancy Protocol on a specific subnet?

A. ensures a loop-free physical topology

B. filters traffic based on destination IP addressing

C. sends the default route to the hosts on a network
D. forwards multicast hello messages between routers

Answer: D

NEW QUESTION 292
- (Exam Topic 4)
What is the function of "off-the-shell" switches in a controller-based network?

A. providing a central view of the deployed network
B. forwarding packets

C. making routing decisions

D. setting packet-handling policies

Answer: D

NEW QUESTION 295
- (Exam Topic 3)

Drag and drop the descriptions of AAA services from the left onto the corresponding services on the right.

AL cowiriting

allows the user o changes 1o enable mode

Hmlts Ehe user s SCoess penmilssions

MM ISTIC I
logs session stanstics o thentication

MOCOVOS USET CoMmimancs |

SECUMES aoCoss o routers

JAuthonzaton

vahidales user credentials

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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ACcounting
records user commands
logs seasion statistics

Authentication

validntes umer credentials

allows the user to change to enable mode
Authornzation
limits the user's access permissions
SeCures access Lo routers

NEW QUESTION 297
- (Exam Topic 3)
Refer to the exhibit.

10.0.1.0/24

Int Senal 01
1 - Intemet

Int Giga 0/1 e
- e

Which two commands must be configured on router R1 to enable the router to accept secure remote-access connections? (Choose two)

A. transport input telnet

B. crypto key generate rsa

C. ip ssh pubkey-chain

D. login console

E. username cisco password 0 Cisco

Answer: BE

NEW QUESTION 299
- (Exam Topic 3)
Drag and drop the statements about networking from the left onto the corresponding networking types on the right.

Traditional Netwarking

I'his type allows better contral over how networks work and how
networks are oonfiguned

This type enabies networks to integrale with applications through
APs

Wew devices are conligured using Lthe pimsscal infrastructure, —

This type orowisions resources from a centralized locaton

Controller-Based Networking

Thes bype regquires o distribuled control plane -
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
A picture containing table Description automatically generated

NEW QUESTION 301

- (Exam Topic 3)

Drag and drop the Rapid PVST+ forwarding slate actions from the loft to the right. Not all actions are used.
|

BPDUSs received are lorwarded Lo the system module,

BPDUs received from the system module are | |

At
processed and Framsnitted s

Frames received from

=
the attached segment are discarded., i

Frames received from

the atbtached segment are processed action

Switched frames received from other ports are advanced

The port in the forwarding state responds to network .
managemant mMeassages

A. Mastered
B. Not Mastered

Answer: A
Explanation:

BPDUs received are forwarded to the system module

BPDLUs receved from the syvstermn module are
processed and transmitted

Frames recelved from
the attached segment are discarded.

The ot in the Forwarnding state responds o nehwork
managament Mestages.

NEW QUESTION 306
- (Exam Topic 3)
Refer to the exhibit.

Vian2 Vian2

o, e 8

0007 .ec53.4289 0007 .ecB89,.7513

SWl#show run SWlf#show mac-address-table
Building configuration... Mac Address Table
S S s  ——
interface FastEthernet0/1 Vlan Mac Address Type Ports
switchport access vlan 2 e e m——— e s
switchport mode access 2 0007 .ec53.4289 DYNAMIC Fa0/1
'
interface FastEthernet0/2
switchport access vlan 2
switchport trunk allowed vlan 3
switchport mode trunk

An engineer has started to configure replacement switch SW1. To verify part of the configuration, the engineer issued the commands as shown and noticed that
the entry for PC2 is missing. Which change must be applied to SW1 so that PC1 and PC2 communicate normally?
A)
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SV {config#interface fal/2

SV {contig-il)#Eno switchport mode trunk

SV 1 {config-iN#Fno switchport trunk allowed vian 3
SV {config-iN#Eswitchport ""“':"F aAcCess

B)

SWH (config¥interface fal/1

SWH {config-if#no switchport access vian 2
SW (conflg-iN#switchport trunk native vian 2
SV (config-ifswitchport trunk allowed vian 3
C)

SV (config winterface fad/1

SW{config-if#no switchport access vilan 2
SWi{config-if#switchport access vian 3

EWW (config-ifi#switchport trunk allowed vian 2

D)
SW1 (config#Einterface fal/2
SWi (config-ifEno switchport access vian 2

SV (config-if#¥no switchport trunk allowed vian 3
SW (config-ifEswitchport trunk allowed vian 2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A
NEW QUESTION 308

- (Exam Topic 3)
Refer to the exhibit.

semvice Timestamps debug daretime msec
service fimestamps log datetime msec
service password-encvption

hostmame B 4

'
boot-start-maarkenr
IJUU'-{'D[‘ TEE N rLur
Y

ip cef

1]

miterface FastEthernetQ/'D
descrpiion WAN _INTERFACE

ip address 10.0.1.2 255.255.255.252
ip access groap 100 in

L)

mterface FastEthernet’]
description LAN INTERFACE

ip address 10.1458.2.1 255255 255.0
duplex auro

speed auto

'

ip forward-protocol nd

L)

access-list 100 permit eigrp any any

access-list 100 permit icmp any amy

access-hst 104 permir rop 10,149 3.0 0.0.0.255 hosr 10.0.1.2 eq 22
access-list 104 permit top any any eq S0

access-list 104 permit tep any any eq 443

access-list 100 deny ip any any log

Which configuration enables DHCP addressing for hosts connected to interface FastEthernetO/1 on router R4?

A. interface FastEthernet0/0 ip helper-address 10.0.1.1 iaccess-list 100 permit udp host 10.0.1.1 eq bootps host 10.148.2.1
B. interface FastEthernotO/1 ip helper-address 10.0.1.1!access-list 100 permit tcp host 10.0.1.1 eq 67 host 10.148.2.1

C. interface FastEthernetO/0 ip helper-address 10.0.1.1 laccess-list 100 permit host 10.0.1.1 host 10.148.2.1 eq bootps

D. interface FastEthernet0/1 ip helper-address 10.0.1.1!access-list 100 permit udp host 10.0.1.1 eq bootps host 10.148.2.1

Answer: B

NEW QUESTION 312

- (Exam Topic 3)

A network engineer must configure two new subnets using the address block 10 70 128 0/19 to meet these requirements:

* The first subnet must support 24 hosts

» The second subnet must support 472 hosts

 Both subnets must use the longest subnet mask possible from the address block

Which two configurations must be used to configure the new subnets and meet a requirement to use the first available address in each subnet for the router
interfaces? (Choose two )

A. interface vlan 1234ip address 10.70.159.1 255.255.254.0
B. interface vlan 1148ip address 10.70.148.1 255.255.254.0
C. interface vlan 4722ip address 10.70.133.17 255.255.255.192
D. interface vlan 3002ip address 10.70.147.17 255.255.255.224
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E. interface vlan 155ip address 10.70.155.65 255.255.255.224

Answer: BD

NEW QUESTION 317

- (Exam Topic 3)

Which action implements physical access control as part of the security program of an organization?

A. configuring a password for the console port

B. backing up syslogs at a remote location

C. configuring enable passwords on network devices
D. setting up IP cameras to monitor key infrastructure

Answer: A

NEW QUESTION 322

- (Exam Topic 3)

Drag and drop the functions of SNMP fault-management from the left onto the definitions on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Table Description automatically generated

fault diagnosis and solation

problem resolution

restorabion of service

NEW QUESTION 327

- (Exam Topic 3)

Which wireless security protocol relies on Perfect Forward Secrecy?

A. WPA3
B. WPA
C. WEP
D. WPA2

Answer: A

NEW QUESTION 332

- (Exam Topic 3)

Refer to the exhibit.
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Server

fa0/1
MAC C601.420F 0007

ISP Cloud

J‘ 2001:DB8:0:1./64

Host A

-—!l

An engineer is configuring the HO router. Which IPv6 address configuration must be applied to the router fa0'l interface for the router to assign a unique 64-brt

IPv6 address to Itself?

A. ipv6 address 2001:DB8:0:1:C601:42FF:FEOF:7/64
B. ipv6 address 2001:DB8:0:1:C601:42FE:800F:7/64

C. ipv6 address 2001 :DB8:0:1:FFFF:C601:420F:7/64
D. iov6 address 2001 :DB8:0:1:FE80:C601:420F:7/64

Answer: A

NEW QUESTION 335
- (Exam Topic 3)

Drag and drop the TCP or UDP details from the left onto their corresponding protocols on the right.

trsnamiited based on dala Conthired 'I.Htpadnﬂmthm.llnu
meed for a data channel

requines the cient and the sorver to establish a connection bofiors
seiding the packet

used o rellably share files between devices

approgeiate for streaming operations with Minimal latency

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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TCP

Ir-:qu'-rﬁ the client and the servesr to establish a connection before
sending the packet

used to reliably share Mliles bebwesh device

uopP

transmitted basedon data contained in the packet without the
nead for a data channel

appropriate for streaming operations with minimal latency

NEW QUESTION 339
- (Exam Topic 3)
How does Rapid PVST+ create a fast loop-free network topology?

A. It requires multiple links between core switches

B. It generates one spanning-tree instance for each VLAN

C. It maps multiple VLANSs into the same spanning-tree instance
D. It uses multiple active paths between end stations.

Answer: A

NEW QUESTION 343
- (Exam Topic 3)
What is one reason to implement LAG on a Cisco WLC?

A. to increase security and encrypt management frames

B. to provide link redundancy and load balancing

C. to allow for stateful and link-state failover

D. to enable connected switch ports to failover and use different VLANs

Answer: B

NEW QUESTION 345
- (Exam Topic 3)
Refer to the exhibit.

r

10.73.65.64/30

Loopbacko: ; 6
10.10.1.14/32 Fa0/0

Loopbacki:
10.10.1.86/32

A static route must be configured on R14 to forward traffic for the 172 21 34 0/25 network that resides on R86 Which command must be used to fulfill the request?

A. ip route 172.21.34.0 255.255.255.192 10.73.65.65
B. ip route 172.21.34.0 255.255.255.0 10.73.65.65
C. ip route 172.21.34.0 255.255.128.0 10.73.65.64
D. ip route 172.21.34.0 255.255.255.128 10.73.65.66

Answer: D

NEW QUESTION 347
- (Exam Topic 3)

Drag and drop the characteristics of networking from the left onto the networking types on the right.
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Controlher -Based Networking
focused on network

focused on devices

usar input is a configuration

user input is a policy Tradibional Networking

uses allow list security model

uses block lizt security model

A. Mastered
B. Not Mastered

Answer: A

Explanation:
(Contr olles -Based MNetworkiang

focuscd on notwork

e allone list security model

user input 5 a policy

Tradibonal Networking |

focused on devices

uses block bst scourity model

user input is a configuration

NEW QUESTION 348
- (Exam Topic 3)
Refer to the exhibit.

TenGigabitEthaernetd/0/0 is up,. line protocol is up

Dascription: Uplink

Intearnat addresa ia 10.1.1.1/24

MITU 1500 bytas, BW 10000000 Kbit/sec, DLY 10 usec,
reliablility 255/255%, txload 1/255, rxload 1/255

Encapsulation ARPA, loopback not set

Esapalive not supported

cutput flow-contrel is on, input flow-contrel is on
ARF typa: ARFA, ARF Timeout 04:00:00
Last input 00:00:00, output 00:05:40, ocutput hang never
Last clearing of "show intarface™ countars naver
Input guesus: O0/375/0/0 (aizse/maw/dropa/fluahesa)  Total outpur drapa: 0
Cususling Strategy: fifo
Cutput gueus: 0/40 (size/max)
5 minute input rate 160000 bits/msec, 1113 packets/sec
S5 minute output rate 11213000 bitas/sec, 1333 packets/sec
12662416065 packets input, 126070322328%4 bytes,., 0 no buffar
Reaceived 14117163 broadcasta (0 IF multicasts)
0 runts, 0 giants, 0 throttles
0 input arroras, 0 CRC, 0 frama, 0 overrun, 0 ignored
0 watchdog, 26271385 pulticast, 0 pause ilnput
7907779058 packets output, 3073750426832 bytas, 0 underruns
output errors, 8862418063 collisions, 1 intarface rasets
unknown protocol dropa
Babblas, 0 late collision, 0 dafarrad
lost carriasr, 0 no carrier, 0 pauss ocutput
sutput buffer failurea, 0 ocoutput buffera awapped out
carriear transitions

FoODODOO

Rardwares is BUILT-IN-ZT+6X1GE, addreas ia T4a0.2fTa.0123 (bia T4ald . 2fTa.0123)

Full Duplex, 10000Mbps, link type is force-up, media typs is unknown media type

Traffic that is flowing over interface TenGigabitEthernet0/0 experiences slow transfer speeds. What is the reason for the issue?

A. heavy traffic congestion
B. a duplex incompatibility
C. a speed conflict

D. queuing drops
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Answer: C

NEW QUESTION 349
- (Exam Topic 3)
Drag and drop the REST API call methods for HTTP from the left onto the actions they perform on the right Not all methods are used.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Chart, bar chart Description automatically generated

POST

GET

DELETE

PUT

PATCH

NEW QUESTION 351
- (Exam Topic 3)
Refer to th_e exhibit.

W T R i B N il B BT W WOERE R W VW § ey W el B W

209.165.201.0/27 is subnetted, 1 subnets

B 209165201 0[20/0] via 1010 12 2, 02:26:33
209 165.202 0/27 is subnetted, 1 subnets

B 209165202128 [20/0) via 10.10.12.2, 02.26.03

10.0.0.0/8 is variably subnetted, 8 subnets, 4 masks
10.10.10.0/28 1s directly connected, GigabitEthernet0/0
10 10.11.0/30 1s directly connected, FastEthemet2/0
10.10.12.0/30 1s directly connecled, GigabilEthernet(0/1
10.10.13.0/25 [110/2) via 10.10.10.1, 00:00:04, GigabitEthernet0/0
101013 128/28 [110/2] via 10.10.10.1, 00:00-04, GigabitEthernet0/0
10.10.13 144/28 [110/2) via 10.10.10.1, 00.00.04, GigabitEthernet0/0
10.10 13 160/29 [110/2] wia 10.10.10.1, 00:00.04, GigabitEthernet0/0
10.10.13.208/29 [110/2] via 10 10.10.1, 00.00:04, GigabitEthernet(/0

0000/ [1/0] via 10.10.11 2

NMOOOOOCOOO

Drag and drop the prefix lengths from the left onto the corresponding prefixes on the right Not all prefixes are used

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated with low confidence
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255.255.255.128

255.255.255.248

R.

255.255.255.24

P
L
nn
[ Y]
L

5.255.252

Y

NEW QUESTION 353
- (Exam Topic 3)

A network engineer is installing an IPv6-only capable device. The client has requested that the device IP address be reachable only from the internal network.

Which type of IPv6 address must the engineer assign?

A. unigue local address

B. link-local address

C. aggregatable global address
D. IPv4-compatible IPv6 address

Answer: B
NEW QUESTION 354

- (Exam Topic 3)
Refer to the exhibit.

Management Network
10.1.1.0/24

Server Network
172.16.2.0/24

192.168.1.0/24 New Server

An engineer is updating the R1 configuration to connect a new server to the management network. The PCs on the management network must be blocked from

pinging the default gateway of the new server. Which command must be configured on R1 to complete the task?

A. R1(config)#lp route 172.16.2.2 255.255.255.248 gi0/1

B. R1(config)#jp route 172.16.2.2 255.255.255.255 gi0/0

C. R1(config>#ip route 172.16.2.0 255.255.255.0 192.168.1.15
D. R1(conflg)#ip route 172.16.2.0 255.255.255.0 192.168.1.5

Answer: C

NEW QUESTION 357
- (Exam Topic 3)
What is the function of the controller in a software-defined network?

A. multicast replication at the hardware level
B. fragmenting and reassembling packets
C. making routing decisions

D. forwarding packets

Answer: C

NEW QUESTION 359
- (Exam Topic 3)
Refer to the exhibit.
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PC1
Manual settings
100 speed
full duplex
fa0
fa0/1

Switch#ishow interfaces status
Port Name Status Vlan Duplex Speed Type
Fa0/1 connected 1 auto auto 10/100BaseTX

The link between PC1 and the switch is up. but it is performing poorly. Which interface condition is causing the performance problem?

A. There is a duplex mismatch on the interface

B. There is an issue with the fiber on the switch interface.
C. There is a speed mismatch on the interface.

D. There is an interface type mismatch

Answer: A
NEW QUESTION 364

- (Exam Topic 3)
Refer to the exhibit.

Switch2#f show lldp

Global LLDP Information
Status: ACTIVE

LLDP hold time advertised is

LLDP advertisements are sent every 30 seconds

120 seconds

LILDP interface reinitialization delay is 2 seconds

A network engineer must update the configuration on Switch2 so that it sends LLDP packets every minute and the information sent via LLDP is refreshed every 3

minutes Which configuration must the engineer apply?
A)

Switch2({config)#lldp timer 60
Switch2(corkaizlldo holdtime 180

B)

Switch2(config #lidp timer 60
Switch2(config)=lidp tlv-select 180
C)

Switch2(config)=lldp timer 1
Switch2{config)=lidp holdtime 3
D)

Switch2({config)=lidp timer 1
SwitchZ(config)=lidp tlv-select 3

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 368
- (Exam Topic 3)
Which protocol uses the SSL?

A.HTTP
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B. SSH
C.HTTPS
D. Telnet

Answer: C
NEW QUESTION 372

- (Exam Topic 3)
Refer to the exhibit.

EIGRP 10.10.10.0/24[90/1441] via FO/10
EIGERE 10.10.10.0/24[90/144] wvia FO/11
EIGRP 10.10.10.0/24[90/1441] wia FO/12
OSPF 10.10.10.0/24[110/20] wvia F0O/13
OSPF 10.10.10.0/24[110/30] via FO/14

Packets received by the router from BGP enter via a serial interface at 209.165.201.10. Each route is present within the routing table. Which interface is used to

forward traffic with a destination IP of 10.10.10.24?

A. FO/10
B. FO/11
C. F0/12
D. FO/13

Answer: B
NEW QUESTION 374

- (Exam Topic 3)
Refer to the exhibit.

Router A Router B
GO/0/0 GO/0/0
1 Network 2
= 192.168.2.0/24
GO0/0/1 G0/0/1
1
P Addr .
192.168.1.0/24
2 Network
] : "‘:l-i
{_':I-Jfﬂfﬂ {_'IUJ"'Ufl 192.168.3.0

i |

Router C

FRouterA{config)#ip route 0.0.0.0 0.0.0.0 152 168.2 .2

Which command must be issued to enable a floating static default route on router A?

A. Ip route 0.0.0.0 0.0.0.0 192.168.1.2

B. ip default-gateway 192.168.2.1

C. ip route 0.0.0.0 0.0.0.0 192.168.2.1 10
D. ip route 0.0.0.0 0.0.0.0 192.168.1.2 10

Answer: D

NEW QUESTION 375
- (Exam Topic 2)
What is a role of access points in an enterprise network?

A. connect wireless devices to a wired network

B. support secure user logins to devices or the network
C. integrate with SNMP in preventing DDoS attacks

D. serve as a first line of defense in an enterprise network

Answer: A

NEW QUESTION 377

- (Exam Topic 2)

What is a characteristic of private IPv4 addressing?

A. traverse the Internet when an outbound ACL is applied

B. issued by IANA in conjunction with an autonomous system number
C. composed of up to 65.536 available addresses

D. used without tracking or registration

Answer: D
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NEW QUESTION 378
- (Exam Topic 2)
Which two QoS tools provides congestion management? ( Choose two )

A. CAR
B. CBWFQ
C.PQ

D. PBR

E. FRTS

Answer: BC

Explanation:

Type of queuing methods are available:s First-In-First-Out (FIFO)e Priority Queuing (PQ)* Custom Queuing (CQ)* Weighted Fair Queuing (WFQ)* Class-Based
Weighted Fair Queuing (CBWFQ)e Low-Latency Queuing (LLQ)

https://www.orbit-computer-solutions.com/qos-congestion-management-tools/

NEW QUESTION 381
- (Exam Topic 2)
Refer to the exhibit.

10.0.0.0/24 is subsetted, 1 subnets
C 10.0.0.0 is directly connected, FastEthernet(/1
C 72.160.0/16 is directly connected, FastEthernet0/0
D 192.168.0.0/24 [90/30720] via 172.16.0.2, 00:00:03, FastEthernet(/0

Which route type does the routing protocol Code D represent in the output?

A. internal BGP route

B. /24 route of a locally configured IP
C. statically assigned route

D. route learned through EIGRP

Answer: D

NEW QUESTION 385
- (Exam Topic 2)
What is the primary different between AAA authentication and authorization?

A. Authentication verifies a username and password, and authorization handles the communication between the authentication agent and the user database.
B. Authentication identifies a user who is attempting to access a system, and authorization validates the users password

C. Authentication identifies and verifies a user who is attempting to access a system, and authorization controls the tasks the user can perform.

D. Authentication controls the system processes a user can access and authorization logs the activities the user initiates

Answer: C

Explanation:

AAA stands for Authentication, Authorization and Accounting.+ Authentication: Specify who you are (usually via login username & password)+ Authorization:
Specify what actions you can do, what resource you can access+ Accounting: Monitor what you do, how long you do it (can be used for billing and auditing)An
example of AAA is shown below:+ Authentication: “| am a normal user. My username/password is user_tom/learnforever’+ Authorization: “user_tom can access
LearnCCNA server via HTTP and FTP"+ Accounting: “user_tom accessed LearnCCNA server for 2 hours”. This user only uses “show” commands.

NEW QUESTION 389
- (Exam Topic 2)
Refer to the exhibit.

gidi1
~ 2 - Ty 96.51.100
192022 DHCP server
198.51.100.100

An engineer deploys a topology in which R1 obtains its IP configuration from DHCP. If the switch and DHCP server configurations are complete and correct. Which
two sets of commands must be configured on R1 and R2 to complete the task? (Choose two)

A. R1(config)# interface faO/OR1(config-if)# ip helper-address 198.51.100.100

B. R2(config)# interface gi0/OR2(config-if)# ip helper-address 198.51.100.100

C. R1(config)# interface fa0/0 R1(config-if}# ip address dhcp R1(config-ify# no shutdown
D. R2(config)# interface gi0/0 R2(config-if)# ip address dhcp

E. R1(config)# interface faO/OR1(config-if)}# ip helper-address 192.0.2.2

Answer: BC
NEW QUESTION 391
- (Exam Topic 2)

An implementer is preparing hardware for virtualization to create virtual machines on a host. What is needed to provide communication between hardware and
virtual machines?
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A. hypervisor

B. router

C. straight cable
D. switch

Answer: A

NEW QUESTION 392
- (Exam Topic 2)
What benefit does controller-based networking provide versus traditional networking?

A. moves from a two-tier to a three-tier network architecture to provide maximum redundancy
B. provides an added layer of security to protect from DDoS attacks

C. allows configuration and monitoring of the network from one centralized port

D. combines control and data plane functionality on a single device to minimize latency

Answer: C

NEW QUESTION 395
- (Exam Topic 2)
What are two reasons that cause late collisions to increment on an Ethernet interface? (Choose two)

A. when the sending device waits 15 seconds before sending the frame again
B. when the cable length limits are exceeded

C. when one side of the connection is configured for half-duplex

D. when Carrier Sense Multiple Access/Collision Detection is used

E. when a collision occurs after the 32nd byte of a frame has been transmitted

Answer: BC

Explanation:
The usual possible causes are full-duplex/half-duplex mismatch, exceeded Ethernet cable length limits, or defective hardware such as incorrect cabling, non-
compliant number of hubs in the network, or a bad NIC.

NEW QUESTION 396
- (Exam Topic 2)
Refer to the exhibit.

SWl#show run int gig 0/1

interface GigabitEthernet0/1
switchport access vlan 11

switchport trunk allowed vlan 1-10
switchport trunk encapsulation dotlqg
switchport trunk native vlan 5
switchport mode trunk

speed 1000

duplex full

Which action is expected from SW1 when the untagged frame is received on the GigabitEthernet0/1 interface?

A. The frame is processed in VLAN 5.
B. The frame is processed in VLAN 11
C. The frame is processed in VLAN 1

D. The frame is dropped

Answer: A

NEW QUESTION 400

- (Exam Topic 2)

What is a capability of FTP in network management operations?

A. encrypts data before sending between data resources

B. devices are directly connected and use UDP to pass file information

C. uses separate control and data connections to move files between server and client
D. offers proprietary support at the session layer when transferring data

Answer: C

Explanation:
The File Transfer Protocol (FTP) is a standard communication protocol used for the transfer of computer files from a server to a client on a computer network. FTP
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is built on a client—server model architecture using separate control and data connections between the client and the server.

NEW QUESTION 405
- (Exam Topic 2)
Which two outcomes are predictable behaviors for HSRP? (Choose two)

A. The two routers share a virtual IP address that is used as the default gateway for devices on the LAN.

B. The two routers negotiate one router as the active router and the other as the standby router

C. Each router has a different IP address both routers act as the default gateway on the LAN, and traffic is load balanced between them.D The two routers
synchronize configurations to provide consistent packet forwarding

D. The two routed share the same IP address, and default gateway traffic is load-balanced between them

Answer: AB

NEW QUESTION 410

- (Exam Topic 2)

A corporate office uses four floors in a building

* Floor 1 has 24 users

* Floor 2 has 29 users

* Floor 3 has 28 users

*Floor 4 has 22 users

Which subnet summarizes and gives the most efficient distribution of IP addresses for the router configuration?

A. 192.168.0.0/26 as summary and 192.168.0.0/29 for each floor
B. 192.168.0.0.24 as summary and 192.168.0.0/28 for each floor
C. 192.168.0.0/23 as summary and 192.168.0.0/25 for each floor
D. 192.168.0.0/25 as summary and 192.168.0.0/27 for each floor

Answer: D

NEW QUESTION 415

- (Exam Topic 2)

A network engineer must configure the router R1 GigabitEthernet1/1 interface to connect to the router R2 GigabitEthernet1/1 interface. For the configuration to be
applied the engineer must compress the address 2001:0db8:0000:0000:0500:000a:400F:583B. Which command must be issued on the interface?

A. ipv6 address 2001:0db8::5: a: 4F 583B

B. ipv6 address 2001:db8::500:a:400F:583B

C. ipv6 address 2001 db8:0::500:a:4F:583B

D. ipv6 address 2001::db8:0000::500:a:400F:583B

Answer: B

NEW QUESTION 420
- (Exam Topic 2)
What are two characteristics of an SSID? (Choose Two)

A. It can be hidden or broadcast in a WLAN

B. It uniquely identifies an access point in a WLAN
C. It uniquely identifies a client in a WLAN

D. It is at most 32 characters long.

E. IT provides secured access to a WLAN

Answer: BE

NEW QUESTION 424
- (Exam Topic 2)
Which mode must be set for APs to communicate to a Wireless LAN Controller using the Control and Provisioning of Wireless Access Points (CAPWAP) protocol?

A. bridge

B. route

C. autonomous
D. lightweight

Answer: D
NEW QUESTION 429

- (Exam Topic 2)
Refer to the exhibit.

kilahow 1p route
192 168 1 Q26 18 Alreftly CoAfSCTad. TFAsTEThearnetl/1

Which two prefixes are included in this routing table entry? (Choose two.)

A.192.168.1.17
B. 192.168.1.61
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C.192.168.1.64
D. 192.168.1.127
E. 192.168.1.254

Answer: BC

NEW QUESTION 430
- (Exam Topic 2)
What is the primary function of a Layer 3 device?

A. to analyze traffic and drop unauthorized traffic from the Internet
B. to transmit wireless traffic between hosts

C. to pass traffic between different networks

D. forward traffic within the same broadcast domain

Answer: C

NEW QUESTION 431
- (Exam Topic 2)
What is the expected outcome when an EUI-64 address is generated?

A. The seventh bit of the original MAC address of the interface is inverted

B. The interface ID is configured as a random 64-bit value

C. The characters FE8O are inserted at the beginning of the MAC address of the interface
D. The MAC address of the interface is used as the interface ID without modification

Answer: A

NEW QUESTION 435
- (Exam Topic 2)
How does the dynamically-learned MAC address feature function?

A. The CAM table is empty until ingress traffic arrives at each port

B. Switches dynamically learn MAC addresses of each connecting CAM table.

C. The ports are restricted and learn up to a maximum of 10 dynamically-learned addresses
D. It requires a minimum number of secure MAC addresses to be filled dynamically

Answer: A
NEW QUESTION 437

- (Exam Topic 2)
Refer to the exhibit.

Rl#show ip route

70U TIHH SUDPLess ed

Crateway ol las! resort 5 192,165,144 to network 0.0.0.0

C 172.16.1.128 25 15 directly connected, GigabitEthermetl/'1/'0
C 192.168.12.0 24 is durectly connected, FastEthernet0'0
( 192.168.13.0°24 15 directly connected, FastEthernetO'|
( 192.168.14.0 24 is directly connected, FastEthernet 1.0
( 172.16.16.1 is direcily connected, Loopbackl
192.168.10.0 24 15 vanably subnetted, 3 subnets. 3 masks
0 192.168.10.0.24 [1102] via 192.168.14.4, 00:02:01. FastEthernet1/0
0 192.168.10.32°27 [110/11] via 192.168.13.3, 00:00:52, FastEthemet0 |
0 192.168.0.0°'16 [1102] via 192.168.15.5, 00:05:01, FastEthernet] /|
D 192.168.10.1/32 [90/52778] via 192.168.12.2, 00:03:44, FastEthernet0 0

0*E2 0.0.000[110/1] via 192.168.14.4. 00:00:10, FastEthernet! 0

If R1 receives a packet destined to 172.161.1, to which IP address does it send the packet?

A.192.168.12.2
B. 192.168.13.3
C. 192.168.14.4
D. 192.168.15.5

Answer: C

NEW QUESTION 439
- (Exam Topic 2)
Refer to the exhibit.

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps
@ 2 PQSS@QSU https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

R1
2
10.10.10.0:30 17 8
1010 10 16730 X \_h.
= = = -1 Intermnst
SteB < SiteA ) R s
R2#sh run | b router ospf Ri#:how ip route
router ospf 1 Gateway of last resort is not set
router-id 2.2.2.2 10.0.0.0/8 is variably subnatted, 4 subnets, 3 masks
log-adjacency-changes C 10.10.10.0/30 is directly connected, FastEthernet0/1
-.-'IU'-I:}*L'-.‘.',“‘&T reference-bandwidth 10000 0 10.10.13.0/25 [110/6576] via 10.10.10.1, 01:37:03
network 10.10.10.1 0.0.0.0 area 0 €  10.10.10.16/30 is directly connected, FastEthernet(/24
network 10.10.13.1 0.0.0.0 area 0 O 10.10.13.144/28 [110/110] via 10.10.10.1, 01:37:03
R2#ishow ip route Rigsh run | b router ospf
Gateway of last resort is not set Vo ‘?mf 1
10.0.0.0/8 is variably subnetted, 3 subnets, 3 masks ml’“”_—”! 1.1.1.1
C  10.10.10.0/30 is directly connected g aoaconcy-thanges:
C 10.10.13.0/25 is directly connected, Vian20 auto-cost reference-bandwidth 10000
C 10.10.13.144/28 is directly connected, Viand(0 network lf:i'm'lc'l 0.00.0r0a0
default-information originate

An engineer is bringing up a new circuit to the MPLS provider on the Gi0/1 interface of Routerl The new circuit uses eBGP and teams the route to VLAN25 from

the BGP path What s the expected behavior for the traffic flow for route 10.10.13.0/25?

A. Traffic to 10.10.13.0.25 is load balanced out of multiple interfaces

B. Route 10.10.13.0/25 is updated in the routing table as being learned from interface GiO/1.
C. Traffic to 10.10.13.0/25 is asymmeteical

D. Route 10.10.13.0/25 learned via the GiO/0 interface remains in the routing table

Answer: D
NEW QUESTION 442

- (Exam Topic 2)
Refer to the exhibit.

R17 Fa0/0 2001:db8:2::201 /64
R17 Fal/0 2001 db8:3::201 /64

R18 Fal/0 2001 db3-3:-301/64
R17 Fa2/0 2001 db8:5::101 /64

R18 Fal/0 2001:db8:4::301 /64

e 1.:#—
%rm‘u Fal/D ; Falfo Faljo

R16 Fal/0 2001:db8:2:-101 /64 Fa2/0 a0/o
PC1)
. R
ZWI.&!'!“ W'IIH P.cz I m
—=

Which IPv6 configuration is required for R17 to successfully ping the WAN interface on R18?
A)

RA1TE

1

ne ip domain lookup
ip cef
1

interface FastEthernetd/0

no ip address

duplex auto

speed auto

ipv6 address 2001:DB8:3::201/64
1

interface FastEtherneti/0

ne ip address

duplex auto

spaed auto

ipvh address 2001:DB8:2::201/64
1

no cdp log mismateh duplex
ipve route 2001:DB8:4::/64 2001:DB8:5::101

B)
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R17T#

!

na ip domain lookup
ip cef

ipv6 unicast-routing
I

interface FastEthernetO/0

no ip address

duplex auto

speed auto

ipv6 address 2001:DB&:2;:201/64
|

interface FastEthernet1/0

no ip address

duplex auts

speed auto

ipv6 address 2001:0B8:3::201/64
I

no cdp log mismatch duplex
ipv6 route 2001:DB8:4.:/64 2001:DB8:3::301

C)

R1T7z

I

no ip domain lookup
ip cef

ipve cef

I

interface FastEthernat/O

no ip address

duplex auto

speed auto

ipv6 address 2001:DB&:2::201/64
I

interface FastEthernet1/0

no ip address

duplex auto

speed auto

ipv6 address 2001:0B8:3::201/64
I

ﬁa cdp log mismatch duplex
ipvE route 2001:DB8 4.:/64 2001:DB8-4::302

D)
R17#
!

no ip domain lookup

ip cef

ipv6 unicast-routing

1

interface FastEthernet0/0

no ip address

duplex auto

speed auto

ipvb address 2001:DB8:2::201/64
1

interface FastEthernet1/0

no ip address

duplex auto

speed auto

ipv6 address 2001:DB8:3::201/64

1

no cdp log mismatch duplex

ipv6 route 2001:DB8:4::/64 2001:DB8:2::201

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

ipv6 unicast-routing statement included (IPv6 is enabled on the router).Compared to the exhibit, Fa0/0 and Fa0/1 have correct configurations.The route to subnet

2001:db8:4::/64 points to R18's Fal/0 (correct
next-hop).

NEW QUESTION 446
- (Exam Topic 2)
Refer to the exhibit.
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10G

Branch Sales

VIAN §

10G

Branch-2

a1/ ‘

715

|
| 106

Branch-4

Only four switches are participating in the VLAN spanning-tree process.

Branch-1 priority 614440
Branch-2: priority 39082416

Branch-3: priority O

Branch-4: root primary

Which switch becomes the permanent root bridge for VLAN 57

A. Branch-1
B. Branch-2
C. Branch-3
D. Branch-4

Answer: C

Explanation:

Dynamic ARP inspection is an ingress security feature; it does not perform any egress checking.

NEW QUESTION 449

- (Exam Topic 2)

A router running EIGRP has learned the same route from two different paths. Which parameter does the router use to select the best path?

A. cost

B. adminstrative distance

C. metric
D. as-path

Answer: C

Explanation:

If a router learns two different paths for the same network from the same routing protocol, it has to decide which route is better and will be placed in the routing
table. Metric is the measure used to decide which route is better (lower number is better). Each routing protocol uses its own metric.For example, RIP uses hop
counts as a metric, while OSPF uses cost.

NEW QUESTION 451

- (Exam Topic 2)
Refer to the exhibit.
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Rl#config t
Rl{config)# interface gil/1l
Rl{config-if)# ip address 192.168.0.1 255.255.255.0

Rl{config}# router bgp &€5000
Rl (config-router)# neighbor 192.168.0.2 remote-as 65001
Rl{config-router)# network 10.1.1.0 mask 255.255.255.0

El(config)# router ocspf 1

Rl (config)$# router-id 1.1.1.1

Rl(config}# network 152.1€8.0.1 0.0.0.0 area O
Rl{config)$ network 10.1.1.0 0.0.0.258 area 0

El({config)# router eigrp 1

El(config)# eigrp router-id 1.1.1.1
Rl(config)$ network 10.1.1.0 0.0.0.255
Rl{config)# network 152.168.0.1 0.0.0.0

RZfconfig t
B2 (config)$# interface gil/l
RZ(config-if)# ip address 192.168.0.2 255.255.255.0

R2fconfig t
B2 (config)$# router bgp 65001
R2 (config-router)# neighbor 192.168.0.1 remote-as 65000

R2(config)# router ospf 1
R2 (config)# router-id 2.2.2.2
R2(config)# network 192.168.1.2 0.0.0.0 area 0

R2(config)# router eigrp 1
R2 (config) # eigrp router-id 1.1.1.
S B 4

b
R2 (config)# network 19%2.168. 0.0.0

Lo}

R2(configl# ip route 10.1.1.0 255.255.255.0 1592.168.0.1

Router R2 is configured with multiple routes to reach network 10 1.1 0/24 from router R1. What protocol is chosen by router R2 to reach the destination network
10.11 0/24?

A. eBGP
B. static
C. OSPF
D. EIGRP

Answer: B
NEW QUESTION 453

- (Exam Topic 2)
Refer to the exhibit.

R1# show ip route | begin gateway

Gateway of last resort is 209 165.200.246 to network 0.0.0.0

§* 0.0.0.0/0 [1/0) via 209.165.200.246, Serial0/1/0

iz directly connected, Seariall/1/0

172.16.0.0/16 is variably subneatted, 2 subnets, 2 masks
172.16.3.0/24 [1/0) wia 209.165.200.250, Serial0/0/0
172.16.3.0/28 [110/1] via 209.165.200.254, 00:00:28, Serial0/0/1
209.165.200.0/24 is wvariably subnattad, 6 subnets, 2 masks
209.165.200.244/30 is directly connected, Serial0d/1/0
209.165.200.245/32 ia directly connected, Serialld/1/0
209.165.200.248/30 is directly connected, Serial0d/0/0
209.16%.200.249/32 is directly connected, Serial0d/0/0
209.165.200.2%2/30 is directly connected, Serial0d/0/1
209.165.200.2593/32 is directly conneacted, Serial0d/0/1

o m

HfneEnoeEn

A packet is being sent across router R1 to host 172.16.0.14. What is the destination route for the packet?

A. 209.165.200.254 via Serial0/0/1
B. 209.165.200.254 via Serial0/0/0
C. 209.165.200.246 via Serial0/1/0
D. 209.165.200.250 via Serial0/0/0

Answer: A

NEW QUESTION 455

- (Exam Topic 2)

While examining excessive traffic on the network, it is noted that all incoming packets on an interface appear to be allowed even though an IPv4 ACL is applied to
the interface.

Which two misconfigurations cause this behavior? (Choose two)

A. The packets fail to match any permit statement

B. A matching permit statement is too high in the access test
C. A matching permit statement is too broadly defined

D. The ACL is empty

E. A matching deny statement is too high in the access list

Answer: BC
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NEW QUESTION 460

- (Exam Topic 2)

An administrator must secure the WLC from receiving spoofed association requests. Which steps must be taken to configure the WLC to restrict the requests and
force the user to wait 10 ms to retry an association request?

A. Enable Security Association Teardown Protection and set the SA Query timeout to 10
B. Enable MAC filtering and set the SA Query timeout to 10

C. Enable 802.1x Layer 2 security and set me Comeback timer to 10

D. Enable the Protected Management Frame service and set the Comeback timer to 10

Answer: C
NEW QUESTION 464

- (Exam Topic 2)
Refer to Exhibit.

b el '_l'_
" e

Isterfaes g0 |0e Intmrinss g1 070 20N
P 1oL em jen 11? P o2 160 Joa 1wy
VILAN e VLAN 100

l

8

oy,

LLG

Which configuration must be applied to the router that configures PAT to translate all addresses in VLAN 200 while allowing devices on VLAN 100 to use their own
IP addresses?

G Eaccess-lint 99 perrndt 209 188 201 20000
A0uter 1 condyg Sip nat inside source list ¥ imterface gi1 00 overioad
4 iy Firveerface giio/ 200
" b TER Mt rveate
u; Swvimrtace gi1 00
o Al outiide

accaas-liat 99 permit 209 168 201 2 258 255 265 255
ip M ingice Yource list #9 interface gi V00 overicad
nierface gi2 0/ 200

B At irvsete
Eimtertace g1 00
o A oLt e

access-lint 98 perrmet 190 168 Y00 0 0 0 0. 2058
o nat inide source lint W9 imerate gt overiaad
inerface gi201 200
g nl irede
mierface g1 00

B M cutyoe

accesy-lint 99 permat 19
g nat insige source lint ¥ inmters
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 465
- (Exam Topic 2)
Which statement correctly compares traditional networks and controller-based networks?

A. Only traditional networks offer a centralized control plane

B. Only traditional networks natively support centralized management

C. Traditional and controller-based networks abstract policies from device configurations
D. Only controller-based networks decouple the control plane and the data plane

Answer: D
Explanation:
Most traditional devices use a distributed architecture, in which each control plane is resided in a networking device. Therefore they need to communicate with

each other via messages to work correctly.In contrast to distributed architecture, centralized (or controller-based) architectures centralizes the control of networking
devices into one device, called SDN controller
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NEW QUESTION 467
- (Exam Topic 2)
Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: AD

Explanation:

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4000/8-2glIx/configuration/guide/ntp.html

To configure authentication, perform this task in privileged mode:Step 1: Configure an authentication key pair for NTP and specify whether the key will be trusted
or untrusted.Step 2: Set the IP address of the NTP server and the public key.Step 3: Enable NTP client mode.Step 4: Enable NTP authentication.Step 5: Verify the
NTP configuration.

NEW QUESTION 469
- (Exam Topic 2)
The SW1 interface g0/1 is in the down/down state. Which two configurations are valid reasons for the interface conditions?(choose two)

A. There is a duplex mismatch
B. There is a speed mismatch

C. There is a protocol mismatch
D. The interface is shut down

E. The interface is error-disabled

Answer: BE

NEW QUESTION 470
- (Exam Topic 2)
What are two characteristics of a controller-based network? (Choose two)

A. The administrator can make configuration updates from the CLI

B. It uses northbound and southbound APIs to communicate between architectural layers

C. It moves the control plane to a central point.

D. It decentralizes the control plane, which allows each device to make its own forwarding decisions
E. It uses Telnet to report system issues.

Answer: BC

NEW QUESTION 474

- (Exam Topic 2)

A network administrator enabled port security on a switch interface connected to a printer. What is the next configuration action in order to allow the port to learn
the MAC address of the printer and insert it into the table automatically?

A. enable dynamic MAC address learning
B. implement static MAC addressing.

C. enable sticky MAC addressing

D. implement auto MAC address learning

Answer: C

NEW QUESTION 475
- (Exam Topic 2)
An engineer needs to configure LLDP to send the port description time length value (TLV). What command sequence must be implemented?

A. switch(config-line)#lldp port-description
B. switch(config)#lldp port-description

C. switch(config-if)#lldp port-description
D. switch#lldp port-description

Answer: B

NEW QUESTION 476

- (Exam Topic 2)

Which protocol prompts the Wireless LAN Controller to generate its own local web administration SSL certificate for GUI access?
A. HTTPS

B. RADIUS

C. TACACS+

D. HTTP

Answer: A

Explanation:
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Reference:
https://www.cisco.com/c/en/us/td/docs/wireless/controller/8-0/configuration-guide/b_cg80/b_cg80_chapter_011

NEW QUESTION 479
- (Exam Topic 2)
Why does a switch flood a frame to all ports?

A. The frame has zero destination MAC addresses.

B. The source MAC address of the frame is unknown

C. The source and destination MAC addresses of the frame are the same
D. The destination MAC address of the frame is unknown.

Answer: B

NEW QUESTION 481
- (Exam Topic 2)
Which action is taken by a switch port enabled for POE power classification override?

A. When a powered device begins drawing power from a PoE switch port a syslog message is generated

B. As power usage on a PoE switch port is checked data flow to the connected device is temporarily paused

C. If a switch determines that a device is using less than the minimum configured power it assumes the device has failed and disconnects
D. Should a monitored port exceeds the maximum administrative value for power, the port is shutdown and err-disabled

Answer: D

Explanation:

Reference:

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst6500/ios/12-2SX/configuration/guide/book/power_o

PoE monitoring and policing compares the power consumption on ports with the administrative maximum value (either a configured maximum value or the port’s
default value). If the power consumption on a monitored port exceeds the administrative maximum value, the following actions occur:— A syslog message is
issued.— The monitored port is shut down and error-disabled.— The allocated power is freed.

NEW QUESTION 486
- (Exam Topic 2)
Which result occurs when PortFast is enabled on an interface that is connected to another switch?

A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down
D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A

Explanation:

Enabling the PortFast feature causes a switch or a trunk port to enter the STP forwarding-state immediately or upon a linkup event, thus bypassing the listening
and learning states.

Note: To enable portfast on a trunk port you need the trunk keyword “spanning-tree portfast trunk

NEW QUESTION 490
- (Exam Topic 2)
Refer to me exhibit.

L¥zshow Ip roubts

-AT8WaAY oL last ISS0IT 15 not sat

Which action is taken by the router when a packet is sourced from 10.10.10.2 and destined for 10.10.10.167

A. It uses a route that is similar to the destination address
B. It discards the packets.

C. It floods packets to all learned next hops.

D. It Queues the packets waiting for the route to be learned.

Answer: A

NEW QUESTION 491

- (Exam Topic 2)

Which unified access point mode continues to serve wireless clients after losing connectivity to the Cisco Wireless LAN Controller?
A. sniffer

B. mesh
C. flexconnect

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 P QsseaqQs LJ https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

D. local
Answer: C

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/wireless/controller/8-5/config-guide/b _cg85/flexconnect.html

NEW QUESTION 495
- (Exam Topic 2)
Refer to the exhibit.

ip arp inspaction wvian 2

intarface fastethsrnet 0/1
switchport mods access
switchpart access vian 2

What is the effect of this configuration?

A. The switch port interface trust state becomes untrusted

B. The switch port remains administratively down until the interface is connected to another switch
C. Dynamic ARP inspection is disabled because the ARP ACL is missing

D. The switch port remains down until it is configured to trust or untrust incoming packets

Answer: A

Explanation:
Dynamic ARP inspection (DAI) is a security feature that validates ARP packets in a network. It intercepts, logs, and discards ARP packets with invalid IP-to-MAC
address bindings. This capability protects the network from certain man-in-the-middle attacks. After enabling DAI, all ports become untrusted ports.

NEW QUESTION 498
- (Exam Topic 2)
Refer to the exhibit.

An engineer configured the New York router with state routes that point to the Atlanta and Washington sites. When command must be configured on the Atlanta
and Washington routers so that both sites are able to reach the loopback2 interface on the New York router?

A. ipv6 route ::/0 Serial 0/0/1

B. ipv6 route 0/0 Serial 0/0/0

C. ipv6 route ::/0 Serial 0/0/0

D. ip route 0.0.0.0.0.0.0.0 Serial 0/0/0
E. ipv6 route ::/0 2000::2

Answer: C

NEW QUESTION 500

- (Exam Topic 2)

A device detects two stations transmitting frames at the same time. This condition occurs after the first 64 bytes of the frame is received interface counter
increments?

A. collision

B. CRC

C. runt

D. late collision

Answer: D
Explanation:

https://www.cisco.com/c/en/us/support/docs/interfaces-modules/port-adapters/12768-eth-collisions.html

NEW QUESTION 504
- (Exam Topic 2)
Refer to the exhibit.
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Which route type is configured to reach the internet?

A. host route

B. default route

C. floating static route
D. network route

Answer: B

NEW QUESTION 506
- (Exam Topic 2)

10.10.225.0/28 10.10.225.16/28 10.10.225.64/26 20 Hosls

Refer to the exhibit. An engineer must add a subnet for a new office that will add 20 users to the network. Which IPv4 network and subnet mask combination does
the engineer assign to minimize wasting addresses?

A. 10.10.225.48 255.255.255.240
B. 10.10.225.32 255.255.255.240
C. 10.10.225.48 255.255.255.224
D. 10.10.225.32 255.255.255.224

Answer: D

NEW QUESTION 510
- (Exam Topic 1)
Refer to the exhibit.
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Router#

Capability Codes: R - Router, T - Trans Bridge, B - Source Route Bridge
S - Switch, H - Host, | - IGMP, r - Repeater, P - Phone,
D - Remote, C - CVTA, M - Two-port Mac Relay

Device ID Local Intrfce Holdtme Capability Platform Port ID

10.1.1.2 Gig37/3 176 R1 CPT 600 Gig36/41
10.1.1.2 Gig37/1 174 R1 CPT 600 Gig36/43
10.1.1.2 Gig36/41 134 " R1 CPT 600 Gig37/3
10.1.1.2 Gig36/43 134 RI CPT600 Gig37/1
10.1.1.2 Ten 3}'2 132 RI CPT 600 Ten 4[2
10.1.1.2 Tend/2 174 R1 CPT 600 Ten3/2

Which command provides this output?

A. show ip route

B. show ip interface
C. show interface

D. show cdp neighbor

Answer: D

NEW QUESTION 514
- (Exam Topic 1)
Which access layer threat-mitigation technique provides security based on identity?

A. Dynamic ARP Inspection

B. using a non-default native VLAN
C. 802.1x

D. DHCP snooping

Answer: C

NEW QUESTION 519
- (Exam Topic 1)
Which two encoding methods are supported by REST APIs? (Choose two)

A. YAML
B. JSON
C. EBCDIC
D. SGML
E. XML

Answer: BE

Explanation:

https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/2-x/rest_cfg/2_1 x/b_Cisco_APIC_RES Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus1000/sw/5_x/rest_api_config/b_Cisco_N1KV_

The Application Policy Infrastructure Controller (APIC) REST API is a programmatic interface that uses REST architecture. The APl accepts and returns HTTP (not
enabled by default) or HTTPS messages that contain JavaScript Object Notation (JSON) or Extensible Markup Language (XML) documents.

NEW QUESTION 522
- (Exam Topic 1)
Drag and drop the SNMP components from the left onto the descriptions on the right.

i

Illi-| &%
L2 S | T AN
L1 L

& (| L e .
SRS T

A. Mastered
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B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 526
- (Exam Topic 1)
How do TCP and UDP differ in the way that they establish a connection between two endpoints?

A. TCP uses synchronization packets, and UDP uses acknowledgment packets.

B. UDP uses SYN, SYN ACK and FIN bits in the frame header while TCP uses SYN, SYN ACK and ACK bits
C. UDP provides reliable message transfer and TCP is a connectionless protocol

D. TCP uses the three-way handshake and UDP does not guarantee message delivery

Answer: D

NEW QUESTION 531
- (Exam Topic 1)
What is a DHCP client?

A. a host that is configured to request an IP address automatically

B. a server that dynamically assigns IP addresses to hosts

C. a workstation that requests a domain name associated with its IP address
D. a rooter that statically assigns IP addresses to hosts

Answer: A

NEW QUESTION 533
- (Exam Topic 1)
Which state does the switch port move to when PortFast is enabled?

A. learning
B. forwarding
C. blocking
D. listening

Answer: B

NEW QUESTION 537
- (Exam Topic 1)
What are two functions of a server on a network? (Choose two)

A. achieves redundancy by exclusively using virtual server clustering

B. runs applications that send and retrieve data for workstations that make requests
C. handles requests from multiple workstations at the same time

D. runs the same operating system in order to communicate with other servers

E. housed solely in a data center that is dedicated to a single client

Answer: BC

NEW QUESTION 540
- (Exam Topic 1)
When configuring IPv6 on an interface, which two IPv6 multicast groups are joined? (Choose two)

A. 2000::/3
B. 2002::5
C. FC00::/7
D. FF02:1
E. FF02::2

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 P QsseaqQs LJ https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

Answer: DE

Explanation:

Reference:

https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/ipv6/configuration/xe-3s/ipv6-xe-36s-book/ip6-multicast.htm

When an interface is configured with IPv6 address, it automatically joins the all nodes (FF02::1) and solicited-node (FF02::1:FFxx:xxxx) multicast groups. The all-
node group is used to communicate with all interfaces on the local link, and the solicited-nodes multicast group is required for link-layer address resolution. Routers
also join a third multicast group, the all-routers group (FF02::2).

NEW QUESTION 545
- (Exam Topic 1)
Which device tracks the state of active connections in order to make a decision to forward a packet through?

A. wireless access point
B. firewall

C. wireless LAN controller
D. router

Answer: B

Explanation:
Stateful inspection, also known as dynamic packet filtering, is a firewall technology that monitors the state of active connections and uses this information to
determine which network packets to allow through the firewall.

NEW QUESTION 546
- (Exam Topic 1)
What is a DHCP client?

A. a workstation that requests a domain hame associated with its IP address
B. a host that is configured to request an IP address automatically

C. a server that dynamically assigns IP addresses to hosts.

D. a router that statically assigns IP addresses to hosts.

Answer: B

NEW QUESTION 547
- (Exam Topic 1)
Which action does the router take as it forwards a packet through the network?

A. The router replaces the original source and destination MAC addresses with the sending router MAC address as the source and neighbor MAC address as the
destination

B. The router encapsulates the original packet and then includes a tag that identifies the source router MAC address and transmits it transparently to the
destination

C. The router encapsulates the source and destination IP addresses with the sending router IP address as the source and the neighbor IP address as the
destination

D. The router replaces the source and destination labels with the sending router interface label as a source and the next hop router label as a destination

Answer: A
NEW QUESTION 551

- (Exam Topic 1)
Refer to the exhibit.

Ip arp inspection vlian 2-10
interface fastethernet 0/1
Ip arp inspection trust

If the network environment is operating normally, which type of device must be connected to interface FastEthernet 0/1?

A. DHCP client
B. access point
C. router
D.PC

Answer: C

NEW QUESTION 555

- (Exam Topic 1)

What is an appropriate use for private IPv4 addressing?

A. on the public-facing interface of a firewall

B. to allow hosts inside to communicate in both directions with hosts outside the organization
C. on internal hosts that stream data solely to external resources

D. on hosts that communicates only with other internal hosts

Answer: D

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-301 dumps

@ 2 P QasseaqQs LJ https://lwww.2passeasy.com/dumps/200-301/ (760 New Questions)

NEW QUESTION 557
- (Exam Topic 1)
Which statement identifies the functionality of virtual machines?

A. Virtualized servers run most efficiently when they are physically connected to a switch that is separate from the hypervisor

B. The hypervisor can virtualize physical components including CP
C. memory, and storage

D. Each hypervisor can support a single virtual machine and a single software switch
E. The hypervisor communicates on Layer 3 without the need for additional resources

Answer: B

NEW QUESTION 562
- (Exam Topic 1)

What event has occurred if a router sends a notice level message to a syslog server?

A. A TCP connection has been torn down
B. An ICMP connection has been built

C. An interface line has changed status
D. A certificate has expired.

Answer: C

NEW QUESTION 566
- (Exam Topic 1)

Which security program element involves installing badge readers on data-center doors to allow workers to enter and exit based on their job roles?

A. role-based access control
B. biometrics

C. multifactor authentication
D. physical access control

Answer: D

NEW QUESTION 569
- (Exam Topic 1)
What are two similarities between UTP Cat 5e and Cat 6a cabling? (Choose two.)

A. Both operate at a frequency of 500 MHz.
B. Both support runs of up to 55 meters.

C. Both support runs of up to 100 meters.

D. Both support speeds of at least 1 Gigabit.
E. Both support speeds up to 10 Gigabit.

Answer: CD

NEW QUESTION 570
- (Exam Topic 1)
Which configuration ensures that the switch is always the root for VLAN 7507

A. Switch(config)#spanning-tree vlan 750 priority 38003685
B. Switch(config)#spanning-tree vlan 750 root primary

C. Switch(config)#spanning-tree vlan 750 priority 614440
D. Switch(config)#spanning-tree vlan 750 priority O

Answer: D

Explanation:

Although the spanning-tree vlan 10 root primary command will ensure a switch will have a bridge priority value lower than other bridges introduced to the network,

the spanning-tree vlan 10 priority 0 command ensures the bridge priority takes precedence over all other priorities.

NEW QUESTION 574
- (Exam Topic 1)
Refer to the exhibit.
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e T Routeri Router?2 —

Site A

Router2#show ip route
Gateway of last reson 15 not set

10.0.0.0/8 is vanably subnetted, 4 subnels, 2 masks
C 10.10.10.8/30 is directly connected, FastEthernet(2
i 10 10.10.12/30 15 dwrectly connected, FasiEthemei(/1
O 10.10.13.025[11011] va 10.10.10 9, 00:00:03, FastEthernel(/2
[110/M11] wia 10.10.10.13, 00.00:03, FastEthemet0/1
C 10 10.10 4730 s directly connected, FastEthemet(/2

If OSPF is running on this network, how does Router 2 handle traffic from Site B to 10.10.13/25 at Site A?

A. It sends packets out of interface Fa0/2 only.
B. It sends packets out of interface Fa0/1 only.
C. It cannot send packets to 10.10.13 128/25

D. It load-balances traffic out of Fa0/1 and Fa0/2

Answer: C

Explanation:

Router2 does not have an entry for the subnet 10.10.13.128/25. It only has an entry for 10.10.13.0/25, which ranges from 10.10.13.0 to 10.10.13.127.

https://study-ccna.com/administrative-distance-metric/

NEW QUESTION 576
- (Exam Topic 1)
How do servers connect to the network in a virtual environment?

A. wireless to an access point that is physically connected to the network

B. a cable connected to a physical switch on the network

C. a virtual switch that links to an access point that is physically connected to the network
D. a software switch on a hypervisor that is physically connected to the network

Answer: D
NEW QUESTION 579

- (Exam Topic 1)
Drag and drop the functions from the left onto the correct network components on the right

DHCP Server
haids the TCPIP sathings [0 be dstnbuted to the dhents
resonves web URLs to [P addresses
stores 3 bst of [P addresses mapped to namss
asmgns & defauR gateway o a chent DRSS
ssgns [P addrestes to enabled Chents

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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mlrr'_"?‘g:_—zzs e
hales the TCP/IP settings to be dstributed to the dients |  hoids the TCP/IP settings to be dstributed to the chents

h o o oo oo e e e e e e e omm oms o=

resolves web URLs to [P adoresses

| assgns [P addresses to enabled chents

stores 3 kst of TP addresses mapped to names s St e |

assgns 3 default gateway 10 3 Chent

resoives web URLs to [P adoresses i
#$5gns [P addresses to enabled Chents

NEW QUESTION 581
- (Exam Topic 1)
Which output displays a JSON data representation?

aal
‘response” {
“taskid”: {}.
url® "stnng”
).
‘version” “stnng”
)
B {
‘response’- {
“taskid™- {}.
“url”- “stnng”
)
‘version’- ‘strning”
H
i g
‘response” {
“taskid™ [}
url™ “stnng”
1.
‘version” “stnng”
}
il |
‘response” {
‘taskid™ {};
el “stnng”
),
‘version” “string”
}
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C
Explanation:

JSON data is written as name/value pairs.A name/value pair consists of a field name (in double quotes), followed by a colon, followed by a
value:“name”:"Mark”JSON can use arrays. Array values must be of type string, number, object, array, boolean or null.For
example:{"name”:"John”,“age”:30,"“cars”:[ “Ford”, “BMW”, “Fiat” ]}JJSON can have empty object like “taskid":{}

NEW QUESTION 585
- (Exam Topic 1)
Refer to the exhibit.
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-Ih: | Bridge Priority: 32768
~— 4 Mac: DD:DD:DD:DD:DD

— |

=

Bridge Priarity: 30000
Mac: CC:CC:CC.CC:CC:cC

Bridge Priority: 32768
Mac: AAAAAAAAAMAA

by  Bridge Priority: 30000
Mac: BB:BB:BE:BB:BB:BB

Which switch becomes the root bridge?

A. S1
B. S2
C.S3
D. S4

Answer: B

NEW QUESTION 590
- (Exam Topic 1)
Drag and drop the IPv4 network subnets from the left onto the correct usable host ranges on the right

Answer Area

172.28.228.144/18 172.28.228.1 - 172.28.229.254
17228.228 144121 172.28.224.1 - 172.28.231.254
172.28.228.144/23 172.28.228.129 - 172.28.228.254
172.28.228.144/25 172.28.228.145 - 172.28.228.150
172.28 228 144/29 172.28.192.1 - 172.28.255 254

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Answer Area
172.28.228.144/18 172.28.228.144/23
172.28.228.144/21 172.28.228.144/21
172.28.228.144/23 172.28.228.144/25
172.28.228.144/25 172.28.228.144/29
172.28.228.144/29 172.28.228.144/18

NEW QUESTION 595
- (Exam Topic 1)
What is a function of a remote access VPN?

A. used cryptographic tunneling to protect the privacy of data for multiple users simultaneously

B. used exclusively when a user is connected to a company's internal network
C. establishes a secure tunnel between two branch sites

D. allows the users to access company internal network resources through a secure tunnel

Answer: D

NEW QUESTION 600
- (Exam Topic 1)
What is a function of Wireless LAN Controller?

A. register with a single access point that controls traffic between wired and wireless endpoints.

B. use SSIDs to distinguish between wireless clients.
C. send LWAPP packets to access points.

D. monitor activity on wireless and wired LANs
Answer: C

Explanation:

Lightweight APs (LAPS) is devices require no initial configuration. LAPs use the Lightweight Access Point Protocol (LWAPP) to communicate with a WLAN
controller (WLC), as shown in the below figure. Controller-based APs are useful in situations where many APs are required in the network. As more APs are

added, each AP is automatically configured and managed by the WLC.

NEW QUESTION 605
- (Exam Topic 1)

How does a switch process a frame received on Fa0/1 with the destination MAC address of 0€38.7363.657b when the table is missing the address?
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A. It drops the frame immediately.

B. It forwards the frame back out of interface FaO/1.

C. It floods the frame to all interfaces except Fa0/1.

D. It holds the frame until the MAC address timer expires and then drops the frame.

Answer: C

NEW QUESTION 607
- (Exam Topic 1)

A network engineer must back up 20 network router configurations globally within a customer environment. Which protocol allows the engineer to perform this

function using the Cisco 10S MIB?
A. CDP

B. SNMP

C. SMTP

D. ARP

Answer: B

Explanation:

SNMP is an application-layer protocol that provides a message format for communication between SNMP managers and agents. SNMP provides a standardized
framework and a common language used for the monitoring and management of devices in a network.The SNMP framework has three parts:+ An SNMP
manager+ An SNMP agent+ A Management Information Base (MIB)The Management Information Base (MIB) is a virtual information storage area for network
management information, which consists of collections of managed objects.With SNMP, the network administrator can send commands to multiple routers to do

the backup

NEW QUESTION 610
- (Exam Topic 1)
Which type of information resides on a DHCP server?

A. a list of the available IP addresses in a pool

B. a list of public IP addresses and their corresponding names
C. usernames and passwords for the end users in a domain
D. a list of statically assigned MAC addresses

Answer: A

NEW QUESTION 615
- (Exam Topic 1)

An engineer is configuring an encrypted password for the enable command on a router where the local user database has already been configured Drag and drop

the configuration commands from the left into the correct sequence on the right Not all commands are used

service password-encryption

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, application Description automatically generated

NEW QUESTION 619
- (Exam Topic 1)
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Which technology allows for multiple operating systems to be run on a single host computer?

A. virtual routing and forwarding
B. network port ID visualization
C. virtual device contexts

D. server visualization

Answer: D

NEW QUESTION 620
- (Exam Topic 1)

Which type of attack can be mitigated by dynamic ARP inspection?

A. worm

B. malware

C. DDoS

D. man-in-the-middle

Answer: D

NEW QUESTION 624
- (Exam Topic 1)
Drag and drop the threat-mitigation techniques from the left onto the types of threat or attack they mitigate on the right.

Answer Area

Configure BPDU guard.

802 1q double tagging

Configure dynamic ARP inspection.

ARP spoofing

Configure root guard.

unwanted superior BPDUs

Configure VACL.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Double-Tagging attack:In this attack, the attacking computer generates frames with two 802.1Q tags. The first tag matches the native VLAN of the trunk port
(VLAN 10 in this case), and the second matches the VLAN of a host it wants to attack (VLAN 20).When the packet from the attacker reaches Switch A, Switch A
only sees the first VLAN 10 and it matches with its native VLAN 10 so this VLAN tag is removed. Switch A forwards the frame out all links with the same native

VLAN 10. Switch B receives the frame with an tag of VLAN 20

unwanted BPDUs on PortFast-enabled interfaces

so it removes this tag and forwards out to the Victim computer.Note: This attack only works if the trunk (between two switches) has the same native VLAN as the
attacker.To mitigate this type of attack, you can use VLAN access control lists (VACLs, which applies to all traffic within a VLAN. We can use VACL to drop
attacker traffic to specific victims/servers) or implement Private VLANsS.ARP attack (like ARP poisoning/spoofing) is a type of attack in which a malicious actor
sends falsified ARP messages over a local area network as ARP allows a gratuitous reply from a host even if an ARP request was not received. This results in the
linking of an attacker's MAC address with the IP address of a legitimate computer or server on the network. This is an attack based on ARP which is at Layer
2.Dynamic ARP inspection (DAI) is a security feature that validates ARP packets in a network which can be used to mitigate this type of attack.

na  [NRION] 80210 o | ERIQ
o “,.m VL1 ] 'i'l..ﬂ
Mathe Swilch A Nata
VL AN 10X VLAM 100
Attacker

NEW QUESTION 628
- (Exam Topic 1)
Refer to the exhibit.
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Ellcﬂ_ﬂlpf vrf ("Rl default™:

ensure => 'present’,
auto_cost => '100°',

Which type of configuration is represented in the output?

A. Ansible
B. JSON
C. Chef
D. Puppet

Answer: D

NEW QUESTION 631
- (Exam Topic 1)
Which protocol does an IPv4 host use to obtain a dynamically assigned IP address?

A. ARP
B. DHCP
C.CDP
D. DNS

Answer: B
Explanation:

https://www.geeksforgeeks.org/how-dhcp-server-dynamically-assigns-ip-address-to-a-host/#:~:text=DHCP%20i

NEW QUESTION 634
- (Exam Topic 1)
Refer to the exhibit.

IBGP route 10.0.0.0/30
RIP route 10.0.0.0/30
OSPF route 10.0.0.0/16
OSPF route 10.0.0.0/30
EIGRP route 10.0.0.1/32

A router reserved these five routes from different routing information sources. Which two routes does the router install in its routing table? (Choose two)

A. RIP route 10.0.0.0/30

B. iBGP route 10.0.0.0/30
C. OSPF route 10.0.0.0/30
D. EIGRP route 10.0.0.1/32
E. OSPF route 10.0.0.0/16

Answer: CD
NEW QUESTION 638

- (Exam Topic 1)
Refer to the exhibit.

import ncclient

with ncclient.manager.connect(host="192.168.1.1', port=830, username='root’,
password=’tesetl23!’, allow agent=False) as m:
print (m.get config('‘running’) .data >ml)

After running the code in the exhibit, which step reduces the amount of data that the NETCONF server returns to the NETCONF client, to only the interface's
configuration?

A. Use the Ixml library to parse the data returned by the NETCONF server for the interface's configuration.
B. Create an XML filter as a string and pass it to get_config() method as an argument.

C. Create a JSON filter as a string and pass it to the get_config() method as an argument.

D. Use the JSON library to parse the data returned by the NETCONF server for the interface's configuration.

Answer: D

NEW QUESTION 643
- (Exam Topic 1)
A network administrator must enable DHCP services between two sites. What must be configured for the router to pass DHCPDISCOVER messages on to the
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server?

A. a DHCP Relay Agent
B. DHCP Binding

C. a DHCP Pool

D. DHCP Snooping

Answer: A

NEW QUESTION 644
- (Exam Topic 1)
What protocol allows an engineer to back up 20 network router configurations globally while using the copy function?

A. SMTP
B. SNMP
C.TCP
D.FTP

Answer: B
NEW QUESTION 648

- (Exam Topic 1)
Drag and drop the DHCP snooping terms from

the left onto the descriptions on the right.

—— e —

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 653

- (Exam Topic 1)

Which CRUD operation modifies an existing table or view?
A. read

B. create

C. replace

D. update

Answer: D
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NEW QUESTION 657
- (Exam Topic 1)
Refer to the exhibit.

Firewsll

g e e T

Which type of route does R1 use to reach host 10.10.13.10/327
A. floating static route

B. host route

C. default route

D. network route

Answer: D

Explanation:

From the output, we see R1 will use the entry “O 10.10.13.0/25 [110/4576] via 10.10.10.1, ...” to reach host 10.10.13.10. This is a network route.Note: “B*

0.0.0.0/0 ..." is a default route.

NEW QUESTION 660
- (Exam Topic 1)
What is the primary purpose of a First Hop Redundancy Protocol?

A. It allows directly connected neighbors to share configuration information.
B. It allows a router to use bridge priorities to create multiple loop-free paths to a single destination.

C. It reduces routing failures by allowing Layer 3 load balancing between OSPF neighbors that have the same link metric.
D. It reduces routing failures by allowing more than one router to represent itself, as the default gateway of a network.

Answer: D

NEW QUESTION 663
- (Exam Topic 1)
In software-defined architecture, which place handles switching for traffic through a Cisco router?

A. Control

B. Management
C. Data

D. application

Answer: C

Explanation:

Data plane—Handles all the data traffic. The basic functionality of a Cisco NX-OS device is to forward packets from one interface to another. The packets that are

not meant for the switch itself are called the transit packets. These packets are handled by the data plane

NEW QUESTION 665
- (Exam Topic 1)
What is an advantage of Cisco DNA Center versus traditional campus device management?

A. It supports numerous extensibility options including cross-domain adapters and third-party SDKs.
B. It supports high availability for management functions when operating in cluster mode.

C. It enables easy autodiscovery of network elements m a brownfield deployment.

D. It is designed primarily to provide network assurance.

Answer: A
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NEW QUESTION 666

- (Exam Topic 1)

A port security violation has occurred on a switch port due to the maximum MAC address count being exceeded. Which command must be configured to increment
the security-violation count and forward an SNMP trap?

A. switchport port-security violation access
B. switchport port-security violation protect
C. switchport port-security violation restrict
D. switchport port-security violation shutdown

Answer: C

Explanation:
https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/25ew/configuration/guide/conf/port_sec.h

NEW QUESTION 670

- (Exam Topic 1)

What software defined architecture plane assists network devices with making packet-forwarding decisions by providing Layer 2 reachability and Layer 3 routing
information?

A. data plane

B. control plane

C. policy plane

D. management plane

Answer: B

NEW QUESTION 673
- (Exam Topic 1)
What mechanism carries multicast traffic between remote sites and supports encryption?

A. ISATAP

B. GRE over iPsec

C. iPsec over ISATAP
D. GRE

Answer: B

NEW QUESTION 678
- (Exam Topic 1)
When using Rapid PVST+, which command guarantees the switch is always the root bridge for VLAN 2007

A. spanning -tree vlan 200 priority 614440
B. spanning -tree vlan 200 priority 38572422
C. spanning -tree vlan 200 priority O

D. spanning -tree vlan 200 root primary

Answer: C

NEW QUESTION 680
- (Exam Topic 1)
Which command entered on a switch configured with Rapid PVST* listens and learns for a specific time period?

A. switch(config)#spanning-tree vlan 1 max-age 6

B. switch(config)#spanning-tree vlan 1 hello-time 10
C. switch(config)#spanning-tree vlan 1 priority 4096

D. switch(config)#spanning-tree vlan 1 forward-time 20

Answer: D

Explanation:

Forward time : Determines how long each of the listening and learning states last before the port begins forwarding.

Switch(config)# [ no ] spanning-tree vlan vlan_ID forward-time forward_timeConfigures the forward time of a VLAN. The forward_time value can be from 4 to 30
seconds.

https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/15-02SG/configurat ion/guide/config/spantree.html#56177

NEW QUESTION 682
- (Exam Topic 1)
What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?

A. The Layer 2 switch drops the received frame

B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B
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Explanation:

If the destination MAC address is not in the CAM table (unknown destination MAC address), the switch sends the frame out all other ports that are in the same
VLAN as the received frame. This is called flooding. It does not flood the frame out the same port on which the frame was received.

NEW QUESTION 683
- (Exam Topic 1)

Which level of severity must be set to get informational syslogs?

A. alert

B. critical
C. notice
D. debug

Answer: C
NEW QUESTION 684

- (Exam Topic 1)
Refer to the exhibit.

RTR-1
interface Loop

172.16.1.62 ip address 192.

intarfacre Loopb

% 7
I
int faca

|

ﬁj 172.16.1.33/27
—

PC-1

1 - e T o
255.255.255.C

5 o 1 = = ) = = S EC {

F R i e R e e

L] 1 = = - =

1 255_.255_.255.0

vll-l_;,tfr__"l?

2 255.255.255,.224

Which configuration on RTR-1 denies SSH access from PC-1 to any RTR-1 interface and allows all other traffic?

A. access-list 100 deny tcp host 172.16.1.33 any eq 22 access-list 100 permit ip any any interface GigabitEthernet0/0 ip access-group 100 in

B. access-list 100 deny tcp host 172.16.1.33 any eq 22 access-list 100 permit ip any any line vty 0 15 ip access-group 100 in

C. access-list 100 deny tcp host 172.16.1.33 any eq 23 access-list 100 permit ip any any interface GigabitEthernet0/0 ip access-group 100 in

D. access-list 100 deny tcp host 172.16.1.33 any eq 23 access-list 100 permit ip any any line vty 0 15 ip access-group 100 in

Answer: B

NEW QUESTION 685
- (Exam Topic 1)
Refer to the exhibit.

&

R4 ki
BGP BGP

Router R4 is dynamically learning the path to the server. If R4 is connected to R1 via OSPF Area 20, to R2 v2ia R2 BGP, and to R3 via EIGRP 777, which path is

installed in the routing table of R4?

A. the path through R1, because the OSPF administrative distance is 110

B. the path through R2. because the IBGP administrative distance is 200

C. the path through R2 because the EBGP administrative distance is 20

D. the path through R3. because the EIGRP administrative distance is lower than OSPF and BGP

Answer: C

NEW QUESTION 690
- (Exam Topic 1)

When a switch receives a frame for a known destination MAC address, how is the frame handed?

A. sent to the port identified for the known MAC address
B. broadcast to all ports
C. forwarded to the first available port
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D. flooded to all ports except the one from which it originated

Answer: A

NEW QUESTION 693
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